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Tuesday, September 22, 2009


--- On resuming at 9:30 a.m.


MR. GARNER:  So if we can start and -- start our day.

Just a little bit of housekeeping.  We have allocated this morning to the panel from Concentric, and you will note we didn't have a break put into that.  So what we're going to suggest is that we will break sometime between 10:30 and 11:00, depending on the presentation and the questions, but we have allotted the morning to this panel.

So I will, as we did yesterday -- first of all, what I would say is that those in the back of the room, again, are encouraged to move forward.  There are a couple of seats in the front, and they are comfortable and right up here where the action is taking, so to speak.

I think the system was fixed last night, so if you are at the very back of the room, can you hear me?  You can hear me, okay.  So it looks like the system actually works today, so we won't have the problems we had yesterday.

So what I would like to do is introduce -- do as we did yesterday.  Each one of the panel members will introduce themselves, but just so that we can -- I can welcome them, to my very right at the end, Julie Lieberman; in the centre, James Coyne; and next to me, Stephen Gaske.

So with that, gentlemen, ladies, I will let you introduce yourselves.

MR. COYNE:  Good morning.  Should I, is this microphone live?

MR. GARNER:  You can use these ones, I believe, today.  I think you will be heard just by the regular microphones in front of you.

MR. COYNE:  Do I need to turn that on?

MR. GARNER:  It is on.
STAKEHOLDER PRESENTATIONS (cont'd)
Presentation by James M. Coyne, Dr. J. Stephen Gaske, Julie Lieberman, Concentric Energy Advisors:

MR. COYNE:  Should we do a sound check in the back?  This is good.  We had -- good morning, everyone.  On behalf of -- by the way, we're not used to sitting this high.  This is a thrill.  We might get used to this.

On behalf of Enbridge, Hydro One and the Coalition of Large Distributors, we appreciate the opportunity to address the Board and stakeholders gathered in the room today on these important matters.

I would like to further introduce my colleagues, Dr. Steve Gaske sitting to my left and Julie Lieberman sitting to my right.  And we have been working together to prepare the analysis and responses to the Board on their 19 questions and, prior to that, on these important issues of the cost of capital in Canada and in the US for many years.

Our responses and recommendations to the Board are based on, as I mentioned, several years of work on these matters pertaining to the appropriate cost of capital for Canada's utilities.  That work has included, in brief, the analysis that we did for the OEB focussed on Ontario's gas utilities back in 2007.  That was a report that got some discussion yesterday.  The analysis that we did for Hydro One in the CLD focussed on Ontario's electric utilities in 2008.

The work that we've done over the last year and a half in Alberta, before the Alberta Utilities Commission, in a generic cost of capital hearing that's taken place again over the last two years; comments that we filed to the OEB on behalf of Enbridge and Hydro One and the CLD in 2009; ongoing research that we do as a team and on our staff pertaining to both Canadian and US capital markets; and extensive rate of return in regulatory experience we have as a firm and individuals before state, provincial and federal regulators, both in the US and in Canada, because we testify in jurisdictions in both countries.

In addition to that, we provided a current cost of capital analysis for Ontario's utilities, and, in addition, our ongoing assessment of research and reports provided by other parties in these proceedings.

Based on our analysis, which supports our responses to the Board's questions, there are five major findings that we would hope that the Board to reach in its ultimate determination in this matter.

Number 1, the formula, the current formula, does not satisfy the fair return standard.  According to our calculations, indeed it falls short somewhere between 173 and 261 basis points, which is a very large difference.

Number 2, government bond yields do not track equity costs in all market conditions and over time, as notably evidenced during the recent financial crisis.

Number 3, US utilities and Canadian utilities are comparable for purposes of estimating the cost of capital.

Number 4, the formula needs to be rebased and a new adjustment mechanism adopted.

And, lastly, government-owned utilities and investor-owned utilities should be treated the same way in regards to their cost of capital.

Which leads us to our overall approach recommended -- and our recommended approach to the Board.

In that approach, we believe strongly that multiple approaches are required to estimate the utility cost of capital.  In our work, we have relied on DCF and CAPM, but we have also confirmed these results using comparable earnings and equity risk premium approaches.

The Board should recognize that capital structure and ROE are interdependent in determining the cost of equity capital.  It's both reasonable and practical to provide utility management with some flexibility to determine their own capital structures within a reasonable range.

Concentric recommends rebasing the ROE and revising the formula based on an equal weighting of corporate bond yields and comparable North American returns.  As many others have suggested - and we heard some of this yesterday - the coefficient of 0.75 in the formula is too high and should be closer to 0.45 to 0.50 if the Board continues with the formula.

The coefficient should be lowered only after a proper rebasing of the ROE.

Corporate or utility bonds provide a better basis for a utility ROE formula, as also suggested by Kathy McShane, which we will hear from later.

Any formula, however, should be monitored, periodically reviewed, and rebased every three to five years.

By the way, a point of follow-up on yesterday's discussion regarding our 2007 study and the coefficient of 0.86 referenced on page 18 of that report.

The 0.86 coefficient was arrived upon by measuring the historic linear relationship between Canada long bonds and Ontario gas LDCs for the period 1985 to 1997, subject to the data constraints detailed in footnote 6 on page 14 of that report.

Since then, our analysis has indicated a coefficient in the range, again, of 0.45 to 0.50 as a much more accurate representation of allowed ROEs in litigated jurisdictions.  So I hope that clarifies that point of discussion yesterday afternoon.

Let's, next, turn to application of the fair return standard.  The Board has asked how it should go about approaching measuring whether or not the returns from the formula are, indeed, meeting the fairness standard, and this is really a threshold issued raised by the Board.

To reach this determination, returns must satisfy all three requirements, which can be measured through specific tests.  In our view, Canadian regulators have often focussed on meeting the first two tests - that is, financial integrity and capital attraction - without giving adequate consideration to the third test, which is comparability.

Attracting debt or equity capital in and of itself is not sufficient to meet the standard, and much of the discussion that we heard yesterday by way of Q and A, and other positions that we have seen taken in other proceedings, we think that there may be some confusion between the ability to attract capital and whether or not, in fact, the fair return standard is being met.

That's only one of the standards of the fair return requirement, along with financial integrity, and it's this comparability requirement that we give quite a bit of our attention to in our analysis, in our subsequent discussion.

So I think that is an important point of departure, however, is to recognize that all three must be met.

We have suggested some metrics that can be used by the Board to measure all three tests.

So why do we say that the formula does not meet the fairness standard?  As seen in this chart, as compared against comparable US gas and electric utilities -- let me just orient you on the chart a little bit.  The black boxes are electric distribution allowed returns in the US for 2009, and the gray boxes are US gas distribution returns in the US, and the diamonds below are those for Ontario gas distribution companies and electric distribution companies.

And the left-hand axis shows return on equity and the horizontal axis is showing you the equity ratio.

As seen in these charts, compared against -- and this chart compared against comparable US gas and electric utilities, Ontario-awarded ROEs and equity ratios are between 1.64 and 1.87 percent below their US peers.  Respectively.

And you can see page 36, figure 4 in our report for additional backup on this issue.

As a result of this -- and I think this is a very important number to keep in mind -- as a result of this, aggregate compensation to Ontario shareholders is 30 to 36 percent less, if you take the product of the equity ratio and the difference in allowed returns, it is 30 to 36 percent less than their US counterparts.

As we will demonstrate in our discussions this morning, US utilities are, indeed, comparable.  Therefore, this does not meet a reasonable test of the comparability standard.

So how has this situation evolved to where it is today?  I think figure 5, although fairly simple, provides very important perspective.  It really has evolved since the introduction of the Ontario formula.

We would point out that while our detailed analysis presented in our written submission is specific to the 2009-2010 time frame, evidence suggests that the gap in comparability began with the introduction of the formula back in 1997 when the US and Ontario-allowed ROEs were in virtual parity, as we can see from this chart.  That gap has widened over time reaching its widest points during the recent financial crisis.

Listening in on yesterday's discussion, I could anticipate the question that arose to the financial panel yesterday, and that is does that mean the Board got it wrong in its prior valuations of its formula over this period of time?  We assume the Board made the best decision it could with the evidence before it and we have the advantage, sitting here today, of 20-20 hindsight, but as measured through the end result, that is allowed ROEs today, the formula has failed to provide a comparable return and therefore the fair return for many years.

Let's ask the question for a moment.  Where did the formula go wrong?  And I think this is an interesting perspective.

Acknowledging that the formula was a well-intended mechanism put in place to promote regulatory efficiency and transparency, where did it go wrong?

Quite simply, it was tied to a single variable long bonds that track downward to unchartered and unanticipated levels over the past decade and a half.  As the chart illustrates - and let me tell you what is on the chart by the way in case that is not evident.  The green line down below is, are the actual bond yields, 10-year Canadian government bond yield over time.

The blue line is the consensus forecast that existed in 1994 at the time that the NEB adopted its initial formula.  So that would have been the expectation for government bond yields going forward.  And as you can see they're expected to decline slightly and then flatten out.

Similarly, when the OEB adopted in 1997 its formula, this would have been the consensus forecast at that time for interest rates.  So the natural expectation would have been that we're going to have a period of stable bond yields and as a result of that, there would have been an expectation that there would be very little variability introduced to ROEs as a result of the formula.

But instead what occurred is the green line and that is this unanticipated, steady drop in government bond yields and that was really, by and large, the major problem that occurred with the formula.

This was exacerbated by a factor of 0.75, which by most estimates including our own is too high compared to the norms of over the past two decades.

Some would argue, as you've seen in this process, that the formula produces reasonable results in 2009.  To us, this is tantamount to arguing that the Boards that approved the formula anticipated these financial market developments over the past decade and a half.

The NEB has found, and I would suggest objective market observers would agree as we heard yesterday, that the formula has failed to accurately reflect changes in capital markets that impact the utility cost of capital.  And I quote the NEB in its recent TQM decision:
"The RH2-94 formula relies in a single variable which is the long Canada bond yield.  In the Board's view, changes that could potentially affect TQM's cost of capital may not be capture by the long Canada bond yields and hence may not be accounted for by the results of the RH2-94 formula.  Further, the changes discussed above regarding the new business environment are examples of changes that since 1994 may not have been captured by the RH2-94 formula.  Over time, these omissions have the potential to grow and raise further doubt as to the applicability of the RH2-94 formula results for TQM."
In this case for 2007 and 2008.

And as was discussed yesterday, and if we can back up for a moment, you can see that in 2009 if that was a concern then, the concern only grew as we entered the financial crisis.

Where else did the formula go wrong?  And I think this is the second important factor -- another one of the ways is evidenced in the relationship between government bond yields and corporate bond yield which are both readily observable.

As shown in this chart, we show the relationship between long Canadas and long corporate bond yields.  In 1996-1997 when the formula was implemented, corporate spreads, that is the spread between government bond yields and corporate yields were 0.52 percent or 52 basis points back in the '96-'97 period.  Over the '98-2006 period, the spread averaged 121 basis points. And as we can see from the charge between 2007 and 2009, the average spread grew to 183 basis points.  And the last 12 months, from September '08 through the end of August 2009 it has grown to 268 basis points and reached a maximum of 367 basis points back on January 27th, 2009.

Utilities are not immune to these structural shifts in North American capital markets.  To argue that the formula produces a reasonable result today is to ignore these fundamentals that impact the cost of capital and that is for both debt and equity for all businesses.

One might ask, as we heard yesterday:  But what about the relationships between Canadian bonds and interest rates and US bonds and interest rates?  Are they comparable?  We have investigated this issue in some detail.

In fact, if you look over the period 1997 through 2009, those 13 years, the average 10-year bond yield difference between the US and Canada was 11 basis points.  So an 11 basis point differential between these 10-year bond yields over the past 13 years.  This suggests capital markets that are moving very closely in tandem so the conclusions we reached for the Canadian bond markets are very much the same for utility bond markets and that is, as we saw, this deviation between government bond yields and of course the cost of corporate debt which ultimately reflects what is going on with equity markets to even a greater degree.



At this point, I would like to turn it over to Steve to describe, in greater detail, the differences between deriving the cost of debt and the cost of equity for a utility.

DR. GASKE:  We drew this particular graph to illustrate a fairly simple concept that, unfortunately, as we have read through Canadian decisions and we have read through transcripts and questions, it seems to us that a great deal of emphasis is placed on whether or not companies are able to maintain credit metrics, whether they're able to maintain their bond ratings, and whether they're able to access the bond markets.  All of which are very important points, but they are fundamentally different from the question that I think we have here today which is that the question of whether the fair return standard on common equity is met.

If you look at the graph, the red line, the upper line is your standard graph of the cost of common equity.  As the equity ratio increases, the financial risk of the firm decreases and you would expect that the cost of common equity would go down.

The lower of the two graphs, the blue one is a coverage ratio curve.  Any place along that curve a company can achieve a coverage ratio of 2.0.

So that as you have more and more common equity, you don't need a very high rate-of-return on common equity in order to make your coverage ratios.  You just don't have that much debt relative to the amount of equity you have.

Probably the easiest way to understand this point is to look at the extreme, which is on the lower right-hand corner of the graph.  The blue line shows that if you have approximately 80 percent equity, a 1 percent allowed rate of return will get you your credit metrics, will get you a 2.0 coverage ratio.

Well, I think everybody in the room, no matter what your thoughts on the cost of common equity are, would thoroughly agree that 1 percent is an inadequate return on common equity.  The required return on common equity is something quite a bit higher, shown on the red line.

As you can see, there is divergence between the two lines throughout most of the range of cost of common equity.  So that whenever we find ourselves talking about whether or not the rate of return on common equity is adequate and we find ourselves talking about bond yields or bond ratings, we're somewhat off the beaten path or off the path that we should be on and looking at the wrong metrics.

MR. COYNE:  Thank you, Steve.  Just to back up for a moment, I just wanted to show the relationship between Steve's discussion and the fairness standard, back to our chart about capital attraction, financial integrity.  I think one of the sources of confusion regarding implementation of the fair return standard, in some jurisdictions, has been an undue focus on meeting a minimum debt attraction metric or meeting a minimum debt coverage ratio.  And as it illustrated by Steve's example, that doesn't necessarily mean that that is a sufficient level of return to attract equity capital.

So that is really where the rubber meets the road in terms of fully complying with a fairness standard.

So we didn't come here today, after all of the research that we have done on the topic, just to further define the problem for the Board, which we expect it has a great understanding of, given the Board's proactive position in terms of inviting stakeholders to come and address this issue.

So we have asked ourselves - and we did this both in Alberta and have rethought this issue in terms of coming here to Ontario - if that's the problem, what's the solution?

And having thought this through twice now, we still come back to the same basic conclusion, and that is that two things are necessary.


The first is -- first step is to rebase ROE so that it will pass the fairness standard.  In our written submission, we provided a detailed cost of capital analysis for Ontario's utilities of both the electric and the gas sector level.

We believe this submission contains all of the analysis and supporting documentation the Board should require to determine generic ROEs and capital structures for both groups of utilities.  And it has been presented in our written submission to be scrutinized by all stakeholders in this process.

We have also analyzed alternative formulaic solutions and recommended -- and we recommend one that would remedy the major problems inherent with the existing formula, recognizing - and I thought Dr. Vander Wiede's comments yesterday were on point - that formulas have a way of getting off track.

And we fully agree with his assessment of that problem.  However well intended these formulas may be, they can get off track.  So we also recommend annual monitoring by the Board Staff, and three- to five-year formal reviews to maintain the confidence and trust of stakeholders that we feel the existing formula has lost the ability to do.

We will talk further about that process in a moment.

Today, because of the prevalence of the formula, one must look to a North American sample, including US companies.  Even without that constraint, there is simply an inadequate number of publicly traded Canadian utilities with appropriate business profiles to form comparator groups, so one simply must look to a broader universe of North American utilities in order to do a proper cost of capital analysis.

Some would argue, as we have seen in this process, that US utilities are not comparable to Canadian utilities.  We have been working on this issue for over three years now, and what we have attempted to provide the Board and all stakeholders in this process in appendix D is what we believe to be the most complete risk assessment in comparison of Ontario versus Canadian utilities -- Ontario versus US utilities that has been done to date.


I hope you have an opportunity to look at it.  At appendix D, you will find a complete risk analysis of Ontario's utilities versus the US comparators that we have chosen.  And we have examined these risk characteristics across business, operating and financial risk profiles.

Let's take a look at the electric groups to talk about some of the factors that we have considered.  We have compared their financial profiles.  We have considered the rate process, and what test year was used and how revenue requirements are formed and projected.  We have considered purchase power cost recovery mechanisms, incentive rate plan treatments, cost recovery provisions, whether or not CWIP is allowed in rate base or not, the existence of special programs such as smart metering programs that drive capital accounts, and also the use of deferral account treatments in both Ontario and the proxy groups.

I should add that in looking at the proxy groups, we have done something that is difficult to do.  That is why you don't see it done often.  Again, I am not aware of it having been done before to this level.  We are using the stock price information for -- the stock price and financial information for the parent companies, but in order to do this type of risk analysis, you need to do it at the operating utility level.

So what we have done is taken those holding companies that have operating utility subsidiaries, and we have looked at each of the utility subsidiaries so that we can see the types of programs they have in place so that we can judge what the overall parent risk profile is vis-à-vis the Ontario comparators that we're trying to draw comparisons to from a cost of capital standpoint.

In that analysis we find, as we have found in the past, that the business and regulatory risks for Ontario's utilities are comparable to the US proxy companies.  That's not to say, by any means, that they're exactly alike, because regulatory treatments between jurisdictions do differ and operating profiles of utilities do naturally differ.

But what we find is they are sufficiently similar so that no risk adjustments are necessary, from a cost of capital standpoint, between these US comparators and the Ontario utilities.

The only real area of divergence that we find between Ontario's utilities and the US comparators is in terms of their financial risk profile.  The financial leverage of Ontario's utilities is 10 percent or more greater than it is for the US comparators.  So the only adjustment that we make, we find it necessary to make, in our cost of capital analysis is to adjust for that difference in financial leverage, and I will describe, as we get into this a little bit further, how we have done so.

So we have examined this on the electric side, as you can see summarized here on page 11, and we have done the same on the gas side.  On the gas side, we have considered the existence of incentive regulation programs, conservation decoupling, fuel cost pass-through mechanisms, revenue requirement investment mechanisms, deferral accounts, capital expense treatments, et cetera.  Again, we reach the same conclusion.

When we examined these issues in Alberta, we found it necessary to make some risk adjustments for the gas transmission and electric transmission side.

When we examined this issue here in Ontario, we found that no differences were required for differences in business or regulatory risk, only on the financial side.

So I think to conclude this discussion, we found, just as the NEB found in its TQM decision -- and I quote again the NEB here:
"In light of the Board's views expressed above on the integration of US and Canadian financial markets, the problems with comparisons to either Canadian negotiated or litigated returns and the Board's view that risk differences between Canada and the US can be understood and accounted for, the Board is of the view that US comparisons are very informative for determining a fair return..."

For TQM in this case, in the years 2007-2008.  We reached the same conclusion in our analysis, that they are sufficiently comparable to make for accurate comparisons from a cost of capital standpoint.

So where does this get us?  As I mentioned, we have developed full cost of equity estimates for Ontario's gas and electric utilities, and it is on that basis that we make our ultimate determination of whether or not returns allowed today are meeting the fairness standard.

That analysis is laid out in detail in our written submission and the supporting appendices.  Because ROE cannot be determined independently, as we mentioned earlier, from capital structure, we specify a range of capital structure ROE combinations as you can see on this table bounded on the low end by the ROEs necessary to maintain minimum debt coverage, to maintain investment grade credit ratings, and on the high end by the proxy group average -- because we would see no need for Ontario's utilities to have equity ratios that would be any greater than the proxy group.  The average proxy group capital ratios, equity ratios are 45 percent for the gas utilities and 46 percent for electric.  


So, intuitively then, you have ROEs based on our detailed cost of capital estimate, based on both CAPM and DCF results, and the suggested equity range allows Ontario's utilities on the low end not to get beyond comfortable debt coverage ratios and on the high end there is no need for them to have more equity in their mix than their, as revealed by the industry to be sufficient as represented by the overall proxy group average.  


In between, we recommend that utility management should be given some flexibility to determine their optimal structure consistent with their own financial needs and subject to the Board's approval.  We will talk in a little bit how we would see this working.  


So that, in our estimation, is what is required to rebase ROE in order to satisfy the fairness standard.  But how do we address the question of how should ROEs be adjusted over time?  In an ideal world we would suggest an annual cost of capital determination and we know -- however, but we understand the desire for regulatory efficiency.  And frankly, we wonder whether or not the Board would really have the staff necessary to be able to manage yearly cost of capital determinations.  We know those are practical considerations.  


So as a result of that, we have asked ourselves, is there some other formula that we think would remedy the principal problems of the existing formula.  To evaluate that question, we have examined eight alternatives and this shows back-cast results dating back to 1994 when the formula was first implemented by the NEB.  


Just to orient you on the chart -- just to orient you on the chart, the dark line represents the formulaic result for the method that we have recommended that we think has the best chance of emulating what a fair return ROE should be over time.  


That line is represented by an index graded by Canadian bond return -- utility bond yields, one-half weighted by Canadian bond yields and the other one-half is weighted by litigated returns of North American utilities.



This black line, in our estimation, and that solution, this equal rating of this Canadian utility bond yield and the index of average litigated North American returns, we believe produces results that are A, reasonably consistent with our currently estimated ROEs for Ontario; B, attracts comparable returns reasonably well over time, although not perfectly; and C, it avoids the problems associated with the current formula.  


As you can see on this chart, we looked at a host of other methods for indexing the formula, including the existing formula which is the very lower line on that chart.  So that shows the index to Canadian long bonds and elasticity of 0.75.  As you can see, that is the line, unfortunately, that deviates the greatest from where comparable returns have been in the US.  


So having examined this various combination of bond yields and weightings, we find this index, that is tied both to an -- both to an equity return, that is allowed returns principally in the US today, but as, if there are greater instances of litigated returns in Canada, we would endorse including those in the index, as well.  And it is also tied to a corporate utility bond yield, getting us as close as we can on the debt side that reflects what is going on in the capital markets.  


How would this work?  The index would be constructed as illustrated here.  One-half would be tied to this Canadian utility bond yields adjusted by a factor of 0.5, which is our estimate of the appropriate relationship, consistent with our regression analysis, and one-half to the average ROEs awarded in North American proceedings and reported by Regulatory Research Associates.  The reason we like these -- another reason we like these two parameters are both are available.  RRA is a subscription service but I don't think it is cost-prohibitive in that regard.  And the other index is reported by Bloomberg.  


So we like the fact that it is transparent.  Stakeholders in this process could have access to this same input parameters, and the Board in its annual review, would have the ability to look at those parameters and just view how well they're actually tracking other estimates of cost of capital for other utilities.



The bond yield data would be sixty day averages which is enough to take out too much fluctuation on a short-term basis.  The awarded ROE data would be year-over-year changes in the average and this could be done on a calendar year basis or it could be done on a moving average basis depending upon if the Board were to adopt this procedure, when, if it were a mid-year approach or if it was an end-year approach, a moving average could be constructed so that it is most up-to-date for when the Board would make that change.  


We believe that this formula brings regulatory efficiency and transparency and it is also tied to inputs that are more likely to track the cost of utility equity than what is in place today.  


Let's talk a little bit about the monitoring process and review process that we recommend.  


As we have seen, and again as Dr. Vander Weide cited yesterday, no formula is perfect.  We ourselves are skeptical of formulas, but we think that with a combination of monitoring and periodic review, a formula like this is workable.  


We have suggested specific metrics because the Board has asked this question that can be monitored by Board Staff on an annual basis.  Those annual metrics to the left-hand side of the slide consist of things like corporate and government bond yields and spreads, comparable litigated returns, equity analyst reports, credit reports, utility debt and equity issuances, equity and market volatility indices, and Canada and US capital market trends.  


We think it is important to have a formal review every three to five years that should entail refreshed cost of capital estimates.  This avoids the problem of having this formula or any other get off track.  Whether or not it should be three, four or five years I think is certainly within the Board's discretion, but I think if the Board adopts the approach that we're recommending here, we would be comfortable going out as far as five years before that full, that full refreshed cost of capital analysis would need to be done again.  


By the way, I think, in looking at that three to five year review, in addition to this updated cost of capital study which would include the DCF results, the CAPM results, comparable returns, et cetera or what other evidence the Board would deem
to be advisable to review at that period of time, let's face it, utility and capital business environments change over time.  I think all of us that have done this for long enough realize that we know we're going to be wrong.  We just don't know how far off we're going to be from the intended target over time.  


I spent an earlier part of my career working for DRI where we sat in rooms with large computers and made financial and economic forecasts for North American markets, and it was a humbling experience.  So I learned at that point in my career that forecasts are useful.  They're important for business planning purposes, but markets have a way of outpacing whatever you might have anticipated regarding future events.  


Specific to the Ontario utility business environment, we know that it is evolving and here, as elsewhere, there are evolving policy objectives concerning -- that will ultimately have implications for utility capital and utility costs.  So I think that is another reason why it is important to sit back down again and not wait for 10 or 15 years, as has occurred in some jurisdictions, and ask:  Has the business environment changed so fundamentally so that we need to change our approach to this?  


Again, we think the three- to five-year period is a good trade-off.  


Let me turn to Steve.  We know that the Board has been presented with positions from a variety of different parties and not all of those positions have agreed fully with those that were presented to you here.  


So we would at least like to address some of the principal points of divergence on technical and macroeconomic factors that we would at least provide our perspective on, in terms of what those sources of divergence are and how we might approach them.  


DR. GASKE:  I will just go over this fairly quickly, because, in essence, much of it is a repetition, in one way or another, of things that are in our report, but the first point is that the formula is broken.

The formula went down at a time when cost of equity, cost of debt for corporations was going up and going up dramatically.

We have looked at a variety of measures according to the CAPM, the DCF, the ERP, the comparable earnings standards.  The formula all seems to be providing and inadequate rate of return.  Professor Vander Weide discussed that in his own analysis, which came to the same conclusion, yesterday.

The US utilities are reasonably comparable to Canadian utilities.  We think they make good comparators.  The two economies are closely related.  The report that we have done, in great detail, demonstrates the comparability of Canadian, US and, in particular, Ontario utilities.

The next point I have is investors have little interest in investments regulated by the formula.  I think we have seen that quite a bit in recent years.  Parties who have proposed major projects invariably proposed they do those projects under negotiated rates with rates of return that are established by something other than a formula, and typically the rates of return embedded in the negotiated rates are quite a bit higher than anything that the formula would yield.

Some note has been made of TransCanada having the ability to issue stock and bonds.  I would only note that TransCanada is investing in projects that are not regulated by the formula, and, in fact, when it issued its stock and bond issues this past year, one of the major things that it said it needed the money for was its Keystone Project, which is about $12 billion that it is investing primarily in the United States.  It has purchased pipelines all over the United States.  And they're not alone.

Lots of Canadian companies, particularly companies that we're aware of that are regulated by the formula, have started investing in projects that are not regulated by the formula, including plenty of projects in the United States.

On a slightly -- let's see...

As far as the CAPM is concerned, we believe that even CAPM analysis would show substantially more than 7.75 percent as the required rate of return.  The current risk premium exceeds 5 percent.  We believe it exceeds 5 percent by a large margin.  However, in our own analysis, we have used average risk premiums over a long period of time, and, therefore, our analysis is not unduly affected by anything that has happened just within the last year.  

But if you were to consider what has happened within the last year, we believe that a market risk premium considerably higher than the one we have used and considerably higher than 5 percent is required at this time.

We have used adjusted betas, which are very standard in the investment analyst community and we believe are appropriate for estimating the cost of capital.

The DCF method is unbiased and supported by theory.  We're well aware that it doesn't have a great deal of favour within Canadian jurisdictions.  However, it is overwhelmingly used in US jurisdictions.  I can think -- offhand, I can think of no exceptions.  

DCF is so universally accepted in US jurisdictions.  It is widely used by investment analysts.  It is widely used by corporate investment officers.  It is a well-accepted, well-established theory.  

It has been criticized in the past for having perhaps unbiased estimates from analysts.  To the extent that might have been true at one point, the problem was definitely addressed when most of the investment analysts that were associated with investment banks were forced to essentially create firewalls or actually remove the investment function from the banks.

Concentric has tested the bias of the forecasts, the analysts' forecasts for the companies that we analyze, and we found that there is no bias.  Professor Vander Weide yesterday spoke about a large body of investment literature that shows that there is no bias and that the best estimates for growth rates do come from investment analysts.

Finally, the last point, there's some discussion that the problems with the formula are temporary.  We believe they're not temporary; that, in fact, the problems with the formula started before the most recent financial crisis.  They continue to this day, and that this is something that the Board ought to and needs to address at this time.

MR. COYNE:  Thank you, Steve.

So let us wrap up with these conclusions before we go to your questions and discussion.

We conclude that the current formula has not accurately tracked equity costs over time and, as a result of that, the ROEs it produces do not meet the fairness standard today.

Ontario's -- as a result of that, Ontario's ROEs require rebasing based on a full cost of capital analysis such as we have provided.  The formula ROE adjustment mechanism also requires revision, and we have recommended a specific process that we think would serve the province well over time, but these ROE results should be monitored and periodically reviewed to make sure that they do so.

Ultimately, I think the fairness standard can be -- it is a legal requirement, but I think in the practice of regulatory implementation, it can probably seem a bit ambiguous, despite all of the financial analysis that we can bring to bear on it.  But I think, at an intuitive level, another important take-away from this is that an ROE deficiency ultimately places Ontario's utilities at a competitive disadvantage, A, and it runs counter to major public policy goals in terms of raising capital they need to implement those public policy objectives.

So not only is it an issue for existing shareholders and future shareholders, but it is -- it also affords advancement on these important public policy objectives.

So we hope our presentation this morning has provided a useful summary of our more detailed written submission, and we sincerely look forward to your questions and discussion that follows.

MR. GARNER:  Thank you.  So what I would do is open up the floor and...

Thank you.  I would open up the floor.  The Vice Chair, Pamela Nowina, has a question.
Q&A Session


MS. NOWINA:  Yes, I have a question.  Mr. Coyne, in your first slide, the major points to consider, your last point there is that government-owned utilities and investor-owned utilities should receive the same cost of equity capital.  

Can you expand on that a little for us?

MR. COYNE:  Surely, Ms. Nowina.

The reason -- and I would note equity capital.  To the extent that debt costs are different between the two, then we feel as though actual debt costs should be flown through.  Here we're talking about equity capital specifically.

The reasons for that are really twofold.  One is that in order for -- in order for publicly-owned entities - and I think that is probably the thrust of the question here in Ontario - to continue to attract the capital that they need independently from whatever municipal or government ownership they may have behind them, they need to have the same cost of capital as their private peers.

In our discussions, especially with the electric utilities for which this is an issue, they continually reinforce to us that they are independently raising capital.  As a result of that, they face the same types of capital market conditions as their private peers.

I think the -- I think the second issue that supports that is that over time, if one were to set a lower rate of return, if that is the implication for publicly-owned utilities, or a different rate of return, it could ultimately thwart the objective of consolidating that sector, because if private, I think the ultimate consolidators would probably be private owners at some point in time.  If they're at a disadvantage in owning electric utilities that had lower ROEs, there wouldn't be incented to do so. 

But I think the real reason is that they ultimately are going to be competing for capital, and in doing so they need to have the same kinds of returns as their private peers.  

I think another factor that we measure, too, is that anything that would fall short of that, if the true cost of capital is that which we have estimated here, anything that would fall short that would represent a subsidization of taxpayers in that utility's jurisdiction to its ratepayers.  

That wouldn't promote the efficient use of electricity or energy as a result of that.  And it would be unfair to a taxpayer that is paying more for capital to subsidize that electric utility.  If you are an energy efficient user and a taxpayer, you don't want to have to be subsidizing a less efficient user who is consuming more electricity than you do. 

So I think there are thorny issues of cross-subsidization as well that by keeping it equal you avoid that, going down that path and that problem.


We typically find that to be the case elsewhere where both private and public utilities are regulated, that regulators typically do not differentiate between them for that reason.  You want these public utilities to be able to stand on their own legs from a capital raising standpoint so that if they ever do become privatized, they're able to do so as well.


MR. GARNER:  Thank you.  Other questions.  Mr. DeRose.  
MR. DeROSE:  Good morning, panel.  My name is Vince DeRose.  I am here on behalf of Canadian Manufacturers & Exporters.  I have a few questions.


My first question was actually going to be with respect to when the formula broke.  You addressed that to a certain extent.  And I take it, from your answers, that in your view it has been broken for many years.  Is that a fair summary of your view of that?  

MR. COYNE:  That's correct.  

MR. DeROSE:  And would you have had this view -- well, when did you form that view?  How long have you been of the view that this formula isn't working?  

MR. COYNE:  We first looked at it in 2007.  So that is the first time we came to that view, that the formula was a problem.  

MR. DeROSE:  Okay.  So that would have been your view at the time that you did the 2007 report for the Board?  

MR. COYNE:  Well, the formula was -- let me clarify.  

When we looked at that issue, the Board's directive to us was that:  Observe the difference between US and gas utilities.  It did not ask us for a determination.  It was quite careful not to ask us for a determination as to whether or not the formula was broken or not.  It asked us for an evaluation of whether or not there were fundamental differences in risk profiles, either tax or macroeconomic or operating or risk differences, that would explain the differences of returns between Ontario's utilities and their counterparts.  

We examined those differences based on a US sample of gas and electric utilities and we also examined utilities in Australia, New Zealand, and two countries in Europe.  

So it wasn't our purpose to determine whether or not the formula was broken.  So we made no such determination at that time.  

What we concluded was, based on our analysis, that we could find no differences based on those factors that would explain the difference that existed at the time.  

MR. DeROSE:  Okay.  And I take it it was that conclusion that then led you to the further conclusion that the formula was broken?  

MR. COYNE:  Well, we did not write that the formula was broken.  That was not a determination that we made at that point in time.  

But it goes hand in hand to have determined that, if our analysis shows that the difference between the two could not be justified by these differences, that there is a problem.  And again that was not our -- that was not the scope of the analysis that we performed at that time for the Board, but as analysts we certainly observed so.  

MR. DeROSE:  And have you considered the possibility that your US comparators are too high?  That it is the converse conclusion?  

MR. COYNE:  Well, we have examined specifically what their appropriate cost of capital should be.  So we are not -- we are not -- we're arriving at their cost of capital independently.  And so we're not taking -- we do -- we do draw the chart that compares their awarded returns versus Ontario's utilities for purposes of that comparison, but the ultimate determination that we make on the fairness standard is based on what we estimate to be their actual required cost of equity and what it is today.  

MR. DeROSE:  Thank you.

MR. COYNE:  So I don't want to play fast and loose with this broken concept because we are quite careful in terms of how we actually examined it.  So I want to be careful in my response to your questions in that regard. 

MR. DeROSE:  Fair enough.  I have another question with respect to -- and I realize the page numbers...

I am working with the report that you filed on behalf of the Coalition of Large Distributors and Hydro One.  I realize the page numbers are slightly different between that one and the one filed on behalf of Enbridge.  

But at page 40 of that report, you provide a table with authorized return regression model.  I don't know whether you necessarily have to pull it up.  

MR. COYNE:  Okay.  

MR. DeROSE:  And my question is this, Dr. Coyne:  In your 2007 report to the Board, and just the reference for the transcript is at page 16 of that report, you also provide an authorized return regression model.  But in your 2007 report, you include Canadian data.  You included Ontario data from 1985 to 1997.  

MR. COYNE:  Right.  

MR. DeROSE:  Could you explain why, in 2007 you included Ontario data, but in this report you have excluded the Ontario data?  

MR. COYNE:  Right.  In the 2007 report we struggled with that, because we had to go back so far to find a period in time in Canada where the formula was not in effect, otherwise our analysis would have been completely circular.  It would have been logical that if we estimated awarded ROEs as a function of bond rates that we would have gotten a factor of 0.75 because that was, in fact, enforced by the formula.  

The data was so old that we were using in Canada that we felt as though it just couldn't possibly capture the last two decades of trends in capital markets and utility costs.  

So we wanted to include it in the 2007 report because we thought it might provide perspective to the Board, in terms of what might have justified the 0.75 at that point in time.  And we concluded that the prior period might have well justified it, you know, we can see why, looking back over the prior 20 years and the work that had been done how 0.75 would have been used.  

But our work on that has shown in the past two decades, looking at it non-formula relationships, that it typically is much lower in this 0.45 to 0.50 range.  So we felt as though we had better data to use by using the last two decades and going back that far in time.  

MR. DeROSE:  Okay.  Thank you for that.  

I have a few more questions, unless someone else is jumping in. 

MR. GARNER:  What I would suggest, Vince, is why don't we have those and we will take a break at quarter to eleven.  So why don't you continue. 

MR. DeROSE:  I could take you us to quarter to, that would be great. 

MR. GARNER:  Maybe I could ask around the room.  Are there other questions people have?  Okay.  Okay.  So why don't we -- why don't we let you continue, Vince, and then we will stop at quarter to.  

MR. DeROSE:  Thank you.  This will be a quick snapper, I think, Dr. Coyne.  In terms of if the Board wishes to find the best proxy for a risk-free rate, would you agree that the Canada 30-year long is the best proxy for a risk-free rate?  

MR. COYNE:  Insofar as setting utility cost of capital is concerned?  

MR. DeROSE:  Thank you. 

MR. COYNE:  I was asking you a question. 

MR. DeROSE:  I thought you were agreeing with me.  Yes.  

MR. COYNE:  Sorry, I have to put a question mark on that.  So your question is:  Insofar as setting utility cost of capital is concerned?  

MR. DeROSE:  Correct.  

MR. COYNE:  Well, we do not -- I think implied in your question is would we recommend using an equity risk premium method that relies on the Canadian bond yield as the risk free rate.  Is that implied in your question?  

MR. DeROSE:  That is not implicit.  I am simply, I guess I am going back to basics.  Currently the ERP uses a risk -- looks for a risk-free rate.  

MR. COYNE:  Yes. 

MR. DeROSE:  I would just simply like your view.  If the Board decides that it wishes to continue to use a risk-free rate as the starting point, I understand you disagree that with that approach. 

MR. COYNE:  Yes. 

MR. DeROSE:  But is the Canada 30-year long the best proxy for a risk-free rate in Canada?  

MR. COYNE:  We use, in our analysis -- in our CAPM analysis, we use the Canada long bond as the risk-free rate, consistent with that, and its forecast as has been -- as has been the pattern in the past here.

So we have no issue with that, per se.  Where we do have an issue with it is in terms of using the change in the long Canada bond over time.

I mean, if you calibrate today's ROE as a function of the risk-free rate off a corporate bond yield or a government bond yield, as long as the ultimate equity risk premium is appropriate -- I mean, we're more concerned with the end result it would produce today with rebasing.  If the end result includes the appropriate market equity risk premium and utility equity risk premium, the fact that it is based on a government bond yield or corporate bond yield, I would say that we don't have a strong view to, because it is really the end result in rebasing that would be appropriate.

However, if it were to use the Canada long bond over time, which looks like the existing formula as the basis to derive changes in ROE, that we would be a problem, for all of the reasons we have just described.  We think it would continue to be problematic, because, as we have shown, government bond yield and the cost of debt and equity for utilities do not move well in tandem over time.

MR. DeROSE:  Thank you.

DR. GASKE:  If I can just add to that, the Board in the past may have had an interest in using a risk-free rate as the base or the indexing, but there is no really technical or financial reason why that is necessary.  In the capital asset pricing model, you need a risk-free rate as the base.

In the equity risk premium, it is much more desirable to have some sort of index that you believe is going to move with the cost of equity for corporations.

Any -- once you have established an initial starting point using the DCF and the CAPM, or whatever, the equity risk premium goes on from there.  And what is absolutely essential is that you try to find some bond yield that is most likely to track the cost of common equity for corporations.

So I noticed yesterday there seemed to be this premium placed on the concept that what you have to use for an equity risk premium is a risk-free rate.  You don't have to use a risk-free rate once you have established a starting point.  The important point is to get a good index that would track future movements -- you hope would track future movements.

MS. BRICKENDEN:  Sorry.

MS. TAYLOR:  I would just like to ask a clarifying question to that answer.  So if I understand what you are saying correctly, you are saying that the capital asset pricing model is one way of determining an equity risk premium, but not the only way, and you can start it at different spots; is that right?

DR. GASKE:  That's correct.

MS. TAYLOR:  Okay, thank you.

DR. GASKE:  The equity risk premium approach, as the Board uses it, starts from a beginning, starting point, and then uses the risk premium relationship going forward.

So as you go forward through time, using that relationship, you want it to move up and down as closely as possible with the cost of equity for corporations.

MR. DeROSE:  Now, I may be simplifying this too much, but I guess I have always approached the risk-free rate that you want to start with a risk-free rate because you want to do your entire assessment of risk in the premium.

And if you use anything other than a risk-free rate, are you not, then, entering into a realm where you need to assess the risk embedded in the rates that you are going to use as your starting spot, and you are also going to have to then assess the risk on the premium side?  Does that not complicate the issue?

DR. GASKE:  No.  The starting point can be established any number of ways, but we believe the CAPM and DCF are appropriate for establishing a starting point.

After that, what you are really doing is indexing.  You are trying to make sure that after you have established a starting point, that it moves in tandem with the cost of common equity.

So in the capital asset pricing model, it is very important to use a risk-free rate, so the risk-free rate plus a premium.  The equity risk premium approach that the Board uses can use any method as a starting point, but once it has a starting point, then you are more concerned with essentially the indexing qualities over time.

MR. DeROSE:  Thank you.  Now, panel --

MR. MONDROW:  Can I jump in, because I am still not sure I understand your response, so if I could just clarify it with you, I would appreciate it.

What I understand you to be saying - correct me if I am wrong - is that if the Board were to continue to use the equity risk premium methodology for what I will call rebasing the ROE, then the risk-free rate is the appropriate rate to use for the rebasing, but that moving forward, more important than a risk-free rate is a benchmark that properly tracks the changes in the cost of equity.  Is that right?

MR. COYNE:  Well, if I might?

DR. GASKE:  Okay.

MR. COYNE:  I want to be careful on the first point.

MR. MONDROW:  Okay.

MR. COYNE:  For rebasing, the risk-free rate is not consequential.  What is consequential for the rebasing is a reliable estimate of what the cost of capital is today, and a host of methods can be used to determine that.

One method would be to take a risk-free rate and add to it an appropriate equity risk premium for utilities.

MR. MONDROW:  Can I interrupt you there?

MR. COYNE:  Yes.

MR. MONDROW:  If you are going to use the ERP method, do you need the risk-free rate?

MR. COYNE:  You could add the ERP to a -- if you are going to use the equity risk premium method, you add the incremental risk to something, and typically it would be a risk-free rate.  It could be added to a corporate bond yield or it could be added to a government bond yield.

The important thing there would be to -- in rebasing, is to find the -- a cost of capital that meets the fairness standard, and we use two methods to use that, the DCF and the CAPM.  We take the average between the two in reaching that determination, and that gives us the kinds of numbers that we're submitting today.

From those numbers that we have provided, let's just say for sake of argument that it is a 10.5 percent ROE.  You could take today's 10-year government bond yield, which is 3.4 percent, roughly, in Canada, deduct one from the other and say that that risk premium is 7 percent.

So if the Board were to rebase and say, We're rebasing based on 10-year government bond yields, which is 3.5 percent, we think the appropriate risk premium is 7 percent, and therefore the ROE is 10.5 percent.  We would look at our analysis and say that the Board has met their test, because they found a fair return that is consistent with the cost of capital analysis that we have done.  So that is the rebasing part of it.

But that test is a fairness standard test that any one of a number of methods could get you there.  Some are more reliable than others, we would submit.

The second part of your question is, for indexing over time, we think that there are obvious problems with using the government bond yield.

MR. MONDROW:  Thank you.

MR. COYNE:  Is that responsive --

MR. MONDROW:  Yes, it was.

MR. COYNE:  -- I hope to both parts of your question?

MR. MONDROW:  And more.

MR. COYNE:  I apologize.

MR. MONDROW:  No, don't apologize.  Thanks very much.

MS. BRICKENDEN:  Vince, do you have any further questions?

MR. DeROSE:  I do.  I don't want to monopolize the time, but I will take one more, which will certainly, I suspect, take us the five minutes left.

It relates to your flight to quality concept or phenomena you describe in your paper.

Yesterday, one of the presentations by Matthew Akman - you were here for that, I believe.

MR. COYNE:  Yes.

MR. DeROSE:  I don't know whether you have the slides, but it is the one that there was actually a lot of time spent on it that described -- I think it was page 8.  It said, "The losers become winners - and vice versa".  This was the slide that showed that in 2008 --

MR. COYNE:  Which slide number?

MR. DeROSE:  Slide number 8.

MR. DeROSE:  It is also up on the screen.

MR. COYNE:  Thank you.

MR. DeROSE:  So if you have it there, I took this slide to show -- I interpret this as actually showing that your flight to quality phenomenon was actually working, in the sense that when the times -- in 2008, investors were migrating to companies such as Enbridge, Fortis and TransCanada, the utilities that have regulated components in them.  And that as we come out of 2008 into 2009, when the economy is starting to become more optimistic, we see their performance actually going down, which I would suggest seems to actually follow the Canada long bond phenomena that you describe in your flight to quality.

I am wondering if you could comment on that.  Whether you agree that that actually is accurate, what is happening, and, if not, why not.  Or if so, why?

MR. COYNE:  Well, Steve and I can tag team on this.  I think, yes, it is working.  We have seen that behaviour in the market, that investors got out of equities generally over the course of this period and they favoured what they felt were less risky investments versus those whose futures were less certain.  That revealed itself in terms of investors moving -- I am not so sure they so much moved towards utilities as they got out of other things and as a result of that it cratered the prices for those that were just more sellers than buyers for many stocks during this period, as we all know.

So as a result of that, utilities weren't harmed to the same degree other equities were, but there was a wholesale movement towards government bonds driving down the bond yields for those stocks.

But I think the general premise of your question is true, you know, investors did behave as one would have expected they might have under those circumstances.

MR. DeROSE:  Well, I guess if I can just follow up to take it to one step, the conclusion one step further is, at a time when investors are migrating to government bonds and so the bond prices are going down, we also see utilities in Canada doing well.

So as the government bonds are doing well, in terms of a comparative on the way that they're operating in the S&P, TSX performance rankings, the utilities are also doing well.  So they are actually tracking to a certain extent the government bonds.

MR. COYNE:  Steve, you are dying to say something.  I am going to get out of the way.

DR. GASKE:  Sorry.  Hell has no fury like an expert sworn.

MR. DeROSE:  I was leading with my chin with that one.

DR. GASKE:  The thing about the government bonds was that you actually saw a rise in their price and a decline in their yields.

What you see here on this graph or exhibit doesn't tell the whole story, which is that, I think as Mr. Booth presents in his evidence, the bottom fell out of these stocks.  These stocks had a decline in their price, unlike the price of the government bonds.

So the utilities that you are talking about here, that did relatively well, relatively well meant that the bottom fell out of their stocks but not nearly to the extent that it did for the others.  So you had their prices going down like all other stocks, and you had the price for government bonds going up, which means that there was a flight to quality out of these stocks, also.

MR. COYNE:  Let me direct you, if I could, to page 65 of the report.  I have the Enbridge version of it in front of me.  Because I think this illustrates a part of the point that may be missing from page 8 in the Macquarie presentation.  Do you have that with you?  Page 65 of our written report.  That is figure 13.

And page 63 of the Hydro One CLD version.

Oh, that is very good.  Thank you, Alex.


What you can see here and I think what is missing from this, you know, it is losers and then bigger losers in terms of what it looks like for utilities.  This shows a comparison of US and Canadian utility equity indices, and you can see that that flight to quality was a downward flight for those that held utility stocks.  It is just that the downward path wasn't as bad for utilities as it was for the rest of equities market.

So it was a case of a flight away from all equities, including utilities, but they just had more stability than the rest of the broader market.

So I just think that is an important point to keep in perspective.  This wasn't a safe haven, it was just a safer haven than the rest of the market.

MR. MONDROW:  Vince, can I jump in on that for a second?

MR. DeROSE:  Yes, absolutely.

MR. MONDROW:  Do you think, lady and gentlemen, it is a regulator's job to protect regulated utilities when all companies around them are falling out?  I mean, do they have a right to make money at all times even if everyone else is losing money?

MR. COYNE:  Well, I think the answer is the fairness standard.  They need to be able to continue to attract capital and maintain their financial integrity and earn comparable returns.  So I think the answer has to be rooted in all three parts of that standard.  So if other companies are falling apart, it is -- that wouldn't be consistent with maintaining financial integrity, if the Board were to let its utilities reach that same end.

MR. MONDROW:  Over the course of 15 or 20 years, I would agree with you wholeheartedly.  But if we're looking at a year where all corporations all over the world are suffering, are the utilities not supposed to be let suffer at all?  I mean, is it a regulator's job to insulate them from all sorts of business and economic vicissitudes even in the short term?

MR. COYNE:  Steve would like to add here.

DR. GASKE:  I think you are probably mixing and matching two different concepts.  One is the concept of should the regulator allow a positive rate-of-return if the stock prices of other companies are going down.

And the answer obviously is "yes."

What has happened with lots of companies is that they continue to make money.  Just utilities, unregulated companies, they continue to make money.  They either make less money than last year or the market lost confidence in them.  Their stock price dropped.  But their actual business fundamentals, in some cases, there are plenty of companies losing lots of money, don't get me wrong, but lots of companies continue to make money even when their stock price has dropped.  In case of the utilities, it would not be unreasonable for them to continue to make money even though their stock prices dropped.  A drop in a stock price does indicate, however, that there is a higher cost of capital going forward.

MR. COYNE:  It is also part of the regulatory compact that utilities, when markets soar, their returns don't soar.  They still earn a fair return.

So when we saw the tech bubble back in the late '90s and early 2000s we didn't see utility returns soar to 20, 30, 40 percent return on equity levels.

So the idea of a utility return is, by its nature, has more stability than we see in the rest of the market.  But certainly that does not protect those that own the stock from the types of changes that we saw in the market over the last 18 months.  It wasn't the job of the regulator to try to control the stock price of the utility.  It cannot do so.  All it can do is allow a fair return.

The market will take its own course after that.

MS. BRICKENDEN:  Sorry, to interrupt can I take an opportunity to take a brief break and get back to our questioning and we get back to, I think, Karen, Larry, Jay and Ian had some questions.  So with that, could I ask that everyone be back by 11:00 and we will resume.  Thank you.

--- Recess taken at 10:50 a.m.

--- Upon resuming at 11:06 a.m.

MS. BRICKENDEN:  Yes, hello.  We would like to resume now that we have our full panel of presenters back.

Just before we broke, there were three or four individuals that had questions.  I interrupted Karen just as she had a lead-on question from a previous answer.  I didn't know, Karen, if you would like to --

MS. TAYLOR:  I think I am okay.  I don't need to ask it.

MS. BRICKENDEN:  Okay.  So the break actually made your question go away.  Could I start, then, please, with Jay?

MR. SHEPHERD:  Okay.  I just have a few.

Let me start with -- and this is probably a more technical question than you would expect, but I am looking at your slide 8, and you have an interest coverage curve.  The rating agencies use three different coverage curves, EBIT, EBITDA and AFFO.  Which one are you using here?

DR. GASKE:  Yes, this is EBIT.

MR. SHEPHERD:  EBIT.

DR. GASKE:  Right.  It's the only one that you can tie directly to an allowed rate of return so you can produce a pro forma coverage ratio out of -- directly out of an allowed rate of return.

MR. SHEPHERD:  I understand.  I guess what I -- you are using 2.0 as the EBIT interest coverage.  I was looking at some of the DBRS ratings for PowerStream and Enwin and people like that, and on an EBIT basis, they're off about four, four-and-a-half.

DR. GASKE:  Right.

MR. SHEPHERD:  That is at the current ROE.  So I am not sure how there is a problem here.  Tell me how there is a problem.

DR. GASKE:  We actually -- I just did this for illustrative purposes.  If you used for example 2.5, the curve would be a little bit higher than that one, but there would still be this gap.  But the important point is that there is a difference between establishing that you have coverage ratios and that you have the cost of common equity correct.

We actually have drawn 2.5 curves that we have used in the analysis that appears in the back of our report, and I just have -- I used 2.0 about a year ago in some work I was doing, and so I carried over the example.  

But you are correct, the 2.5 curve would be a little bit higher, in the relevant range.  You would still have a gap.

MR. SHEPHERD:  Well, okay.  But that is not my question.  My question, rather, is:  Your after-tax equity costs here, sort of the red line, if you like -- right?

DR. GASKE:  Yes.

MR. SHEPHERD: -- is probably -- I am guessing is probably around a three or three-and-a-half coverage.  If you plotted interest coverage, that would probably be around three or three-and-a-half?

DR. GASKE:  Right.

MR. SHEPHERD:  So the Ontario utilities, at least the ones for which we have this data, are above that.  So that would tend to tell me that their ROE, their current ROE, is above what you say is the attract equity capital level; isn't that right?

DR. GASKE:  No, no.  My big point is that -- well, let's take point A there on that graph where you have a 2.0.

If you go up from A until you hit 3, unless 3 is higher than the red curve, you won't be getting an adequate return, if you have 3.

MR. SHEPHERD:  That exactly my point.  If you plotted 3, it would be higher than the red curve.  And, therefore, if they have a 3.0 EBIT interest coverage, then they're already getting enough.  They don't need more; isn't that right?

DR. GASKE:  Actually, we use a 2.5, which is the bare minimum, we believe, and in our analysis the 2.5 does actually -- there is a crossover point where it is the same as the equity curve.  And we used that in establishing the lower bound of the equity ratio that the Board should allow as reasonable.

So we have the table in there that shows a set of equity ratios and equity returns that we believe are reasonable.  The ones -- the equity ratios on the low end are the equity ratios that correspond to a 2.5 coverage ratio.

MR. COYNE:  Let me just introduce a point of clarification, too.  If you turn to page 21, and this is the Enbridge version of our report, table 3, I am wondering if you might be focussing on FFO interest coverage ratios that are in the magnitude you described, because -- 

MR. SHEPHERD:  No.  I asked the question because I am reading the DBRS and they have all three of them.  I am asking, Which one do I look at?  The EBIT is typically the highest.

DR. GASKE:  No.

MR. COYNE:  No.

MR. SHEPHERD:  In these ones it is.

MR. COYNE:  Pardon?

MR. SHEPHERD:  In these ones it is.

MR. COYNE:  For Ontario's utilities -- well, we will wait until we get to table 3, which is on page 21.  There you go.

These are -- this is the most recent data we have for Ontario's gas and electric utilities, and you can see the EBIT interest coverage ratio.  And let's see if that... You can see the third column in from the right are the EBIT coverage ratios, and they range from a low end of just over 2 for Toronto Hydro and Veridian to, on the high end, 3.23, 2.9, 5.4.

So those are all in the two to, say, three-and-a-half range.  And FFO interest coverage ratios, because of the way they're calculated, are going to be higher.  I am wondering if you might have seen those numbers.

But I think the point is that we established a minimum -- in looking at cost of capital, we look at a -- an equity ratio and ROE combination that would not take them below the minimum.

And we establish their cost of capital based on a comparison to the proxy groups, and that is what tells us whether or not we're getting a fair return or not.

If their interest coverage ratios are above the minimum and they are at a comparable return, then we're satisfied with that result.

If they should happen -- if, for that particular utility, that gives them an EBIT coverage ratio that is greater than that, that is not a problem.  It is only a problem if we were to take them above a fair return and to have them above the minimum.  Then, of course, we have a result that is too high.

MR. SHEPHERD:  So if you have somebody -- like, I am looking at the 2007 DBRS for Barrie, and their EBIT on that is 4.49.

MR. COYNE:  I'm sorry, who are you looking at?

MR. SHEPHERD:  Barrie Hydro Distribution.  It just happens to the one that was in my -- the fastest one to get.

MR. COYNE:  Right.

MR. SHEPHERD:  So at 4.49 they're doing fine.  They don't need more ROE, do they?

MR. COYNE:  Well, you can't make that determination.  That only tells you that they have sufficient -- they may have very little debt, and that tells you that they have no problem making their interest obligations, but they may not have a dime for their equity holders.  They may not have an adequate return for their equity holders.

And you are going to the very point that we described in the past is that you can't -- you can't just focus on what is there for debt and assume that you have adequate coverage for your equity holders.

MR. SHEPHERD:  Because you could be more or less leveraged?  That is the variable; right?

DR. GASKE:  Yes.

MR. SHEPHERD:  Given a standard capital structure, if you have -- if you increase the interest coverage, then you are improving the return to the shareholder; right?

DR. GASKE:  No.  That is our point.  If you have higher interest coverage, if you go back to that graph that I showed, you can get a 2.0 coverage ratio with a 1 percent return on common equity.  My point is that it does depend on what equity ratio you are assuming.

MR. SHEPHERD:  That's the variable, is capital structure?

DR. GASKE:  Capital structure and return, both variables.

MR. SHEPHERD:  Okay.  You said just towards the end of your presentation, I think, that a drop in stock prices implies that the cost of capital goes up; right?

DR. GASKE:  It implies that.  It could mean that less earnings are expected in the future.  So it could mean either or both things.

MR. SHEPHERD:  Well, you were talking about the fact that the market went down last year, and you said -- I mean, you said a drop in stock market means the cost of capital goes up.  That's what you said.  I wrote it down.

DR. GASKE:  Yes.  And last year there was no doubt that the cost of capital went up by a variety of measures.

MR. SHEPHERD:  Okay.  So if the cost of capital goes up when stock prices go down, the opposite is true, too; right?  Stock prices go up, the cost of capital goes down; right?  

DR. GASKE:  That could be true.  It could be that investors expect more earnings in the future.  Same thing I said before.  It could mean either or both. 

MR. SHEPHERD:  Unless you are in an Internet bubble, that is generally true.  Investors are thinking in terms of earnings, right, then if they're paying more for the stock, it is because the cost of capital is going down.  

DR. GASKE:  I don't think you can make that generalization. 

MR. SHEPHERD:  Okay.  So you don't think that the price of stocks is reflective of cost of equity capital?  You don't think they're connected?  

DR. GASKE:  Oh, yes, they definitely are. 

MR. SHEPHERD:  How are they connected?  

DR. GASKE:  If expected future earnings stay the same and there is a drop in the stock price, then you know that the cost of equity went up and vice versa.  

If you hold that variable constant -- 

MR. SHEPHERD:  If a utility is getting an 8 percent return to book equity, and I am willing to pay a 50 percent premium for the stock, it's correct that I am saying I'll take a lesser return for this stock?  

DR. GASKE:  It depends on what it is that you are paying the 50 percent premium for.  

MR. SHEPHERD:  I am trying to give you a very simple example.  It's 8 percent, I am expecting it is always going to be 8 percent and I will pay 50 percent more for the stock. 

DR. GASKE:  If it is 8 percent and it is always going to be 8 percent, you are correct, yes.  

MR. SHEPHERD:  Okay.  So in the last few years in Ontario, when electricity distributors are acquired, in virtually every case that I know of there's been a premium paid.  Either through the acquisition price or through the merger valuations because sometimes they're mergers; right?

All other things being equal, does that imply that the market is saying that ROEs are more than adequate?  And if not, why not?  

MR. COYNE:  Well, let me go to that, because we work in this area.  

MR. SHEPHERD:  That's why I'm asking. 

MR. COYNE:  The acquisition price -– well, first of all, to parse your question.  

The acquisition price would reflect the buyer's expectations of forward returns for their investment.  

So that may say nothing at all about today's returns.  It should say something about what their expected returns are over time and how that operation may meld with their own operations.  

The financial analysis required to buy a utility probably requires 10, 15 or 20 year financial projections for that utility, and assumptions regarding what the allowed returns would be.  

So that is why it would not say anything about what, what they're signalling regarding today's returns.  It would say something about what their expectations are for future returns and their own ability to manage the utility and drive out costs and things of that nature and earn what they consider to be a fair return for that investment.  

MR. SHEPHERD:  When you use the DCF, the discounted cash flow model, that is the primary model you are using to estimate -- 

MR. COYNE:  No.  We put equal weight on the CAPM and the DCF. 

MR. SHEPHERD:  It is one of the two primary models.  When you do that, are you using historical growth and dividends and historical stock prices?  Or are you doing an individual forecast of some sort?  

MR. COYNE:  We are using -- we are using historic stock prices and dividends for the most recent -- 90 days for dividends and prices.  

Then we are using forward forecasts for dividend yields and those are typically five-year projected forecasts.  

MR. SHEPHERD:  Where are you getting those forecasts? 

MR. COYNE:  They're coming from a combination of Bloomberg, Value Line, Zacks, and Yahoo First Call. 

MR. SHEPHERD:  So this is all US data?  

MR. COYNE:  We also do it for a Canadian proxy group.  We do it for both a US gas, a US electric, and a Canadian proxy group. 

MR. SHEPHERD:  The difficulty with the Canadian proxy group is you don't actually have any actual pure play regulated utilities that are publicly traded in Canada; right?  

MR. COYNE:  That is a problem in Canada, yes.  It is a problem in the utility industry period, not just Canada.  But yes, it is probably more acute in Canada. 

MR. SHEPHERD:  In fact, even if you ignore pure play and just get ones that have some significant component of utility, a regulated utility, you still only got six or seven, right, that are publicly traded? 

MR. COYNE:  That's correct, yes. 

MR. SHEPHERD:  So how do you do the discounted cash flow method in those situations?  

MR. COYNE:  Well, we used the same procedures but we put less weight on them because the proxy group is so small, and it is hard to find a set of comparators for, you know, in this case we're looking for a set of comparators that would represent Ontario's gas and electric utilities.  When you are looking at a universe, I believe the number is actually five companies.  You just can't find sufficient operating comparability within those companies that would accurately represent Ontario's gas and electric utilities which forces us to use, in order to get greater reliability, US proxy group samples.  There we can draw upon 52 electric utilities and, how many gas utilities, Julie?

MS. LIEBERMAN:  I think there are 11. 

MR. COYNE:  Eleven or 12 gas utilities.  So we have a much broader universe to draw upon.  Then we can further screen those so that we have operations that are, operations, credit metrics, et cetera, that look most like the target companies, in this case Ontario's utilities.  

MR. SHEPHERD:  So what weight did you give the Canadian group as opposed to the US group?  

MR. COYNE:  We report it as a -- a corroborating result, but in terms of our actual recommended results, because of that reason, we don't give it any weight, in terms of the actual ROE calculation.  It is derived on the two US proxy group samples. 

MR. SHEPHERD:  So your entire DCF calculation that you are telling this Board is the correct number is -- or is one of the two correct numbers is based on US data?  

MR. COYNE:  It is based on -- that's correct.  It is based on US companies.  

MR. SHEPHERD:  Okay.  Have you had a chance to look at Dr. Cannon's paper? 

MS. BRICKENDEN:  Sorry to interrupt you, Jay, but I am concerned.  We had indicated we would wrap this up at noon and I wanted to just do a sanity check, Larry and Ian.  Could we -- and Michael, did you have some questions?  Do you mind, Jay, if we pass the baton and come back?  

MR. SHEPHERD:  Can I finish this point?  

MS. BRICKENDEN:  Sure.  

MR. SHEPHERD:  Okay, because this is on the same thing I was just asking about. 

MR. COYNE:  Might I just supplement the answer I just gave you.  

I should note that the analysis that was done is corroborated by the Canadian proxy group analysis that we have done including both DCF and CAPM and that is reported in our results, yes.  In addition to that, we also use CAPM, we feel that gives the work some balance. 

MR. SHEPHERD:  Have you looked at Dr. Cannon's paper from July that is in the materials on this?  

MR. COYNE:  Yes, I have. 

MR. SHEPHERD:  Okay.  So he talks about the disadvantages of the DCF method. 

MR. COYNE:  He does. 

MR. SHEPHERD:  Do you agree with his analysis of those disadvantages?  

MR. COYNE:  Could you be more specific?  

MR. SHEPHERD:  Well, he says, for example, there is a problem with circularity and there is a problem because if you don't have enough utilities that are publicly traded, you don't have good enough information particularly if the subject utility is not traded then you have to use comparable information and that is not necessarily useful.  He says much of the appeal of the DCF approach is lost if you have to do that.  

Do you agree with that?  

MR. COYNE:  Well, let's -- I read his paper quite carefully and with interest.  Could we actually bring it up and -- I would just like to look at the specific paragraph.  I think he was quite careful with his choice of words in that description, as I recall.   

MR. SHEPHERD:  Two Ns.  I have a hard copy we can look at but I am not sure if you want to see it on the screen or not. 

MR. SCHWARTZ:  There was a Board letter.  It was in the Bibliography, and that had a cite. 

MR. SHEPHERD:  Is it is also on the Webdrawer.  

MS. BRICKENDEN:  Perhaps we can proceed just with the hard copy and get the discussion going, as Alex is...

MR. SHEPHERD:  The paper is on the web drawer if you want to find it.  

MR. SCHWARTZ:  It is there.  Keep looking.  It is on the screen.  

MS. BRICKENDEN:  There you go.  

MS. BRICKENDEN:  Which page?  

MR. SHEPHERD:  Page 14.  Top of page 14.  You see there he says:
"Much of the appeal of the DCF approach is then lost if dividend yield values for the formula have to be inferred from 'comparable' utilities or from non-regulated-firm data and subject-utility-specific risk changes cannot be factored into the K."

Which is cost of capital estimation.  Do you agree with that?

DR. GASKE:  The differences in the utility risks and his comment about circularity all go to a point where I think he is kind of off point, which is that investors can incorporate a formula when they set the stock price.  They're aware of it.  It gets reflected in the stock price.

So there is a break in any circularity.  The investors come up with the discount rate that they require, which in some cases will be entirely different from what the formula is producing, and they will come up with a stock price and a DCF estimate that is non-circular.

MR. SHEPHERD:  So this is exactly what we were talking about a minute ago, that connection between the stock price and the future expected returns; right?

DR. GASKE:  Right.

MR. SHEPHERD:  Okay, thank you.

MR. COYNE:  Well, I am not done.

[Laughter]

MR. COYNE:  Neglected in that discussion are the advantages of the DCF model that Dr. Cannon mentions above, and these are the reasons why we put weight on it, and that is:
"The principal advantages of the DCF method are that it reflects investors' consensus expectations as embodied in the current share price." 

Then he goes on to say:
"These assumptions or requirements for validation include payment of the cash dividend, fairly steady growth and dividends over time..."

Et cetera.

And when we do -- stepping outside of regulatory hearings to do analysis for clients that are buying energy assets, we start with a DCF model.  It is what we use.  It is how investors evaluate the value of assets, period.  It is the model that -- that is used.

It is only when we get to when you have insufficient data to do a DCF analysis, do you do a CAPM analysis.  It is a primary tool in the investment community and for financial analysts.

It is a primary tool used by regulators broadly to for a determination of the cost of capital, because it has direct market information you can capitalize on to compute cost of capital.

The fact that you don't have publicly traded stock information for your subject utility is remedied by the fact that you use a proxy group of comparable companies, because that shows you what investor expectations are for the comparable companies, and therefore they are applicable to your subject company.

So that is how it all comes together.

MR. SHEPHERD:  So the DCF method is, in fact, the method that companies are probably using in valuing acquisition targets in Ontario and LDCs, for example, or when they're doing M&A work, those valuations are probably done on a DCF basis; right?

MR. COYNE:  I would assume so.

MR. SHEPHERD:  Okay.

MR. COYNE:  Again, based on future expected returns.  I don't want to come back and leave that point.  It is not based on today's ROEs, because we do that work and you have to make assumptions about:  What will the regulatory body do over time, insofar as managing and regulating -- not management -- regulating that utility?  

So you are looking at 20-year assumptions, not what today's ROE might happen to be.

MR. SHEPHERD:  Then couldn't the Board -- because the Board has valuations of utilities in its files, dozens of them.  Couldn't the Board go look at those valuations and determine what actual investors have actually assumed is the forward return on equity that they're going to get over a long period of time, and then simply use that number?  That would be right; right?  It would be investor expectations.

MR. COYNE:  I don't know that I would want to wish that upon the Board, but its rightness would be determined by whether or not it met the three prongs of the fairness standard.  If it did, then I think that we would have a reasonable number.

But in doing so, and when we do this work, a number of assumptions have to be made, and, regarding the future cash flows of that utility enterprise, if it were done in a proper method then it would tell you the -- it would tell you the value of that utility.  It may tell you something about the assumptions you have embodied in it regarding what it may be worth to another investor.  So in that sense, it would have value.

MR. SHEPHERD:  Thank you.

MS. BRICKENDEN:  Ian, did you have some questions?

MR. MONDROW:  Thank you, yes.

Gentlemen, you mentioned, in particular you, Mr. Coyne, mentioned several times this morning the complete and detailed analysis you provided for the benefit of all stakeholders, and I want to start off by thanking you for that, but also to beg your indulgence.  I really haven't had time to give it the time and effort it is worth, but you are here and I have to ask you some questions. 

So if the answer is in there, it is sufficient for my purposes for you to say it is in there and give me the reference, and I will go away and follow up.  But, in the meantime, I beg your indulgence on some of these.

Lisa, I will try not to take too much time, but I have a couple to run through.  The first topic deals with the Canada-US comparisons generally, and I will try not to cross-examine you, but I want to establish whether you, in your view, have - indeed need to - use judgment to both identify the comparators, and then to determine whether, and, if so, what sorts of adjustments or compensations need to be made because of some differences, because you have been -- I think in the materials you note that there are differences, but they're a wash, and so presumably you have to form that view.

I assume in doing so you exercise educated judgment.

MR. COYNE:  Well, to your first question, in terms of choosing the comparators, we laid out specific criteria that are very much like the criteria we use elsewhere in the cost of capital analysis, so that shows us the group to use to compare. 

So we started with a broad screen so we didn't start off with dissimilar companies from a macro perspective, and then having chosen that screen, we then examined their operating, business and regulatory characteristics in a more detailed way.

At the conclusion of that process, yes, we did have to make informed judgments regarding the relative risk characteristics of those two groups.

MR. MONDROW:  Okay, thank you for that.

I am just going to run through a list of parameters, and I just want you to tell me, if you have addressed them, presumably it is reflected in the appendix with all of the little writing, which I will at some point get through, and if you haven't, maybe just tell me why.  And that is really the more important part of the question, if there are any.

So the first distinction seems, to me, to be the frequency of rate reviews or regulatory reviews, and in Canada they're effectively annual.  There is incentive regulation, but even that is based kind of on an annual adjustment, which accomplishes a couple of things.  

One, primarily, there is no out-of-year volume risk for Canadian utilities.  It also signals, in my view, a proactive regulator, proceedings like this, and the NEB's and the BCUC's are indicative, in my view, of a proactive approach to regulation in Canada to make sure utilities are okay.  Don't wait for them to come and complain all the time.

That is different from the US.  My understanding is the US is much more sporadic.  It is much more regulation by exception, as it were.  First of all, is that fair, and, secondly, have you considered that?

MR. COYNE:  No, I don't think that is accurate.  I don't think it is sporadic or regulation by exception.

The norm in the US is for there to be some latitude between the Commission and the utility to determine when a rate case is necessary.  And most often times, the cost of capital is reset in that rate case.

So the Commission and -- as evidenced by the resources required for hearings such as this, the Board and the company are in a position to evaluate whether or not their costs have so materially changed as it warrants the time, expense and effort to go back in for a rate case, all things considered.

So in that process, the norm is for the company and/or the Board to call in the utility when it believes there is sufficient information to justify the timing for a rate case.

So I would say that is rather -- I think that is an informed balance, so to speak, between stakeholder interests, in terms of when it is time for a rate case.

MR. MONDROW:  You don't see the risk associated -- the regulatory risk different on that parameter between the US and Canada?

MR. COYNE:  No.  I would say quite to the contrary.  If after six months you are out and your costs have changed, you can raise your hand and request a hearing.  So I think -- I don't know that that latitude exists.  I think the norm is more typical for -- because it is an annual hearing process, I think the same degree of freedom, so to speak, doesn't exist as it does in the typical US model to come in between periods.

But because of the time and expense associated with rate cases, the practice is that there typically is more time in the US than there is in Canada.

MR. MONDROW:  All right.  I will leave that, given the time.

It is an interesting topic for me, but I will let someone else have a turn.

MR. COYNE:  It is interesting.

MR. MONDROW:  Let me run through another couple, if I could.  In Canada, I think it is fair to say that significant capital investment by rate regulated utilities is generally approved in advance.  Is the same true in the US?  

MR. COYNE:  It depends upon the jurisdiction and the degree of capital structure.  If it is a significant -- let's talk about -- well, let's talk about electrics first. 

If it is a significant capital expenditure for major generating unit or transmission line, it is typically the case that that would be included in a plan and the plan would be vetted with the Commission beforehand and there would be -- there may be preapproval of that plan that would then be subject to a prudence review in terms of how that utility would implement that plan including the actual costs associated with building that structure.  

The same is pretty much true on the gas side.  Ordinary O&M expenditures and things of that nature are done between rate cases.  

In the investigation that we have done, we found that most jurisdictions have provisions for extraordinary expenditures.  So if there is a sense there is going to be capital risk exposure, the utility will seek approval beforehand, again, but in almost every case you are subject to a prudence review in terms of how you execute on that plan. 

MR. MONDROW:  Right.  But a post facto prudence review is obviously much more risky than an ab initio prudence review. 

MR. COYNE:  Not once you have preapproval, because, in essence, the commission has said to you, We see a need and benefits associated with your proposal.  

MR. MONDROW:  Right. 

MR. COYNE:  But you need to ultimately make a showing when it goes into rate base that you have in fact executed that plan accordingly. 

MR. MONDROW:  So the dollar figure isn't reviewed until after the fact in the US?  

MR. COYNE:  If it is a large expenditure, they will be both reviewed before and after, and for reconciliation between the two.  

MR. MONDROW:  So you don't see, in respect of approval of major capital investments, you don't see a distinction between the Canadian regulatory regime and the US regulatory regime?  

MR. COYNE:  I do see some distinction.  

An important distinction is that CWIP in rate base is much more prominent amongst the US proxy groups we examined which goes to a degree of protection that is typically not afforded in Canada.  

So you will actually be able to place that investment in rate base while you are constructing the facility and earning a cash return on it as opposed to an accounting return waiting for it to go into rate base. 

MR. MONDROW:  Has that been in place for a while or is that a new initiative? 

MR. COYNE:  It has been evolving over the last 20 years but I would say that it is probably at the point where more than 50 percent of the jurisdictions now allow CWIP in rate base.  I think of the proxy groups that we examined, it is -- Julie will tell me the exact number.  

MS. LIEBERMAN:  Fourteen of 16 operating companies, electric operating companies in our US proxy group have CWIP in rebase, allow CWIP.  

MR. MONDROW:  And gas?  

MS. LIEBERMAN:  In gas it was -- gas is less, because the investment is generally less, but it is, I think, 5 -– yes, 5 of 15 actually were identified as allowing CWIP in rate base. 

MR. COYNE:  Less, being less lumpy for a mature gas system which is often times the case than it is for a major regenerating unit or transmission much like we see here in Quebec -- I mean, Ontario.  

MR. MONDROW:  What about have you done an analysis of the extent to which Canadian versus US rate-regulated utilities over-earn versus under-earn relative to their approved earnings?  

MR. COYNE:  We looked at this issue.  It is an interesting one.  We last looked at it in 2007, in response to the Board's work that we did, because the Board was interested in that issue.  

What we found was that by and large, both Canadian and US utilities, on average, earned their allowed returns over time.  

We wanted to expand on that work.  We looked at it again and what we found -- and I think we heard this from Dr. Vander Weide yesterday is that the data that is available on earned returns is not uniformly available for a broad enough segment of the utilities to make the -- to make the work readily -- the data you need readily available.  

We went back and looked at the data that we had used in 2007 and I wanted to test it further.  It is FERC form 1 and FERC form 2 data.  We found that utilities more often than not were reporting very different earned returns than was showing up in the FERC data, that analysts such as ourselves were using to make those comparisons. 

So we found that the data wasn't of sufficient quality so that we could really do a whole lot with it.  But -- 

MR. MONDROW:  So you don't know?  Not for lack of effort, but you don't know whether US utilities tend to under-earn rather than over-earn?  

MR. COYNE:  Well, through our experience we know that, on average, I think, most typical US utilities earn somewhere around their allowed return.  Again, we know this based on looking at specific utilities, because that data is available.  

We have looked at some at that level, and the aggregate data would suggest so, but we do have concerns about the quality of that aggregate data.  

MR. MONDROW:  That's fair.  Thank you.  

I don't want to take up all of the time, I know there are others that have some questions. 

You talked earlier, Mr. Gaske, am I pronouncing that right? 

DR. GASKE:  Gaske. 

MR. MONDROW:  Sorry, Mr. Gaske.  I think it was you that talked about TransCanada - maybe it was you, Mr. Coyne - being a diversified utility company. 

DR. GASKE:  Yes.  

MR. MONDROW:  And that their recent financing efforts really need to be evaluated in that light.  

Professor Booth talks about two other companies Enbridge and Fortis.  I just wanted to maybe give you a chance to comment on, since Professor Booth will be here later in the week, comment on those two examples.  Does the same principle apply in respect of the Enbridge, I guess that was a debt issue, and Fortis as I understand, the material was an equity or common share, two common share issues actually. 

DR. GASKE:  I haven't looked at the statements that they issued at the time of the issuance.  But I know that Enbridge is investing and growing rapidly in the United States.  

I know Fortis has been investing around the world at various places.  A few months back I got to stay in a Fortis hotel which was very nice, and I know that their management is smart enough to invest in the Caribbean.  

So I am sure the Caribbean operations get the due attention they deserve.



So, yes, those are pretty good examples of other companies that are investing outside of the regulated rate-of-return formula. 

MR. MONDROW:  So you would say, I gather that the ROEs allowed in Canada for the rate-regulated Canadian operations of those utilities, are in fact a drag on their ability to raise capital?  

DR. GASKE:  The ones regulated under the formula. 

MR. MONDROW:  The ones regulated under the formula?  

DR. GASKE:  Yes.  For example, I know that the Enbridge folks can talk to this better than I can -- but they're doing some fairly large pipeline projects that have negotiated rates, and negotiated rates are not under the formula.  

MR. COYNE:  But if I listen to your question, the last part of it was a drag in their ability to raise capital.  

I think what -- more accurately what it is is a disincentive for these companies to invest in Canada versus jurisdictions where their returns are closer to what their actual required cost of capital are.  

We see that in a pragmatic way, virtually on a consistent basis for the Canadian clients that we work with, they're looking for US investment projects with either unregulated operations or US operations and the discussion begins with these returns in Canada just are not sufficient.  And it is not, it is not a matter of utilities whining about insufficient ROEs.  We know there is a long legacy of that.  

This is a case of utilities clearly are making business decisions on -- based upon where at a corporate holding company they think they can earn reasonable returns, and there has been a steady stream of investments across border from Canada and the US.  I raised this discussion with companies that we work with that are looking at making utility investments and I raised the issue of Canada.  

And you don't see the same degree of interest in -– reciprocally, and again it has a lot to do with the perception, and based on our work we would say the reality, that the returns, at least at this point in time, are just not comparable to that which can be earned elsewhere. 

So there are some real dollar flows that are occurring that are flowing one directionally as a result of that.  

MR. MONDROW:  I have one more question, and then I will cede the spot at least for now.  This is a simple one.  This is kind of the no-such-thing-as-a-stupid-question question, I think.  I hope.  

Slide number 14 from your presentation this morning.  It had a bunch of lines on it.  

If I am correct, the line which is coded as H in the key at the bottom of that graph, is that actually the ROE rather than just the long Canada bond?

MR. COYNE:  It is.  What it is is it takes the 19 -- in this particular case, what it does is it takes the actual Enbridge ROE that existed in 1994 and it applies the formula to the Enbridge ROE as if it had been in place in 1994, mirroring the impact of the NEB formula that was implemented in that period of time.

So it would reflect the Enbridge, in this case, ROE had that formula been in existence going back to that period in time versus these alternatives.  The reason we went back to '94 is that we felt as though even though the formula wasn't introduced in Ontario until 1994, that once the NEB adopted the formula, there was a tendency for other jurisdictions to look at the NEB's allowed returns and be influenced by them.

But one could do the graph beginning in 1997, and I think one would get to the same result.

MR. MONDROW:  But if you did it beginning in 1997, then would the Enbridge shaded line be the same line as the -- as the H line?  Is that the reason why the Enbridge authorized is different, higher in all cases, but the starting point, than the bottom line?

MR. COYNE:  That's correct, other than just maybe the timing of the --

MR. MONDROW:  Of the changes?

MR. COYNE:  Of the changes, correct.

MR. MONDROW:  I see the smoothness is different.  Thanks very much.  Thank you.

MR. COYNE:  You're welcome.

MS. BRICKENDEN:  Larry Schwartz?

MR. SCHWARTZ:  Thank you.  I was interested in the discussion of home buys and the extent to which Canadian and American capital markets are integrated, or not.

I might have thought that the best way to measure this would be to actually look at the utility holdings of Canadian and American institutional investors.  If American institutions have a lot of Canadian utilities, and if Canadian institutional portfolios have a lot of American, then we would be pretty clear on that.

Do you have any way of knowing that, among the other tests that you have done?

MR. COYNE:  Just to be clear, are you asking the question of the percentage of common equity ownership in Canadian utilities by American equity holders and vice versa?  Is that the question?

MR. SCHWARTZ:  Yes, yes.

MR. COYNE:  We have -- we have -- we looked at that actually in the 2007 Board report, and we looked at it for a few of the Canadian companies.

We found -- at that point in time we were looking at Enbridge, specifically, and US institutional companies owned 17 percent of Enbridge at that period of time.

Our view of that was that -- it is consistent with what we hear from capital market experts, such as those we heard from yesterday -- that there is an efficient flow of capital cross border.

It is also consistent with what we see in the market for investors that are looking at buying utility companies.  For example, we actually worked with Macquarie in helping them invest in the Puget Sound utility they acquired two years ago.

In the process of doing so, they pulled together a number of -- Ontario's Teachers fund I think was one of the participants, and other private equity investors in Canada.

So it showed to us that there was at least more than on the margin, a fairly efficient cross-border flow of capital looking at utility investments either as existing equity holders, as we saw in the case of Enbridge, or in those that are making incremental investments.

But we haven't done a complete analysis of all utility holdings on both sides, because we didn't feel as though the data was as readily available.  Enbridge had this from its consumer or investor relations department.  We couldn't find it from publicly available sources, because we would like to have done the analysis that way.

MR. SCHWARTZ:  It is my impression that the dealer trading desks have books of institutional portfolios, so that when they go to propose a trade, they know how much of that stock the institution already has.  

For example, I haven't seen those books in recent years, but I know at one point they did exist, because I worked for a dealer, and it might be possible to get them.

Of course, it wouldn't be enough just for one year, but over a series of years, to see.

And I guess I wondered whether -- well, obviously you haven't done that -- whether it might be a worthwhile thing to do.

MR. COYNE:  I think it would be worthwhile to do, because it would show where that existing capital was placed.  I agree with your assessment, but we have not been able to obtain the data that would allow us to do it at that level.

MR. SCHWARTZ:  I don't remember the name of the organization that publishes these.

MR. COYNE:  The SEC rules require that you report, I believe it is in the US, the top ten holders of your equity, and we have tried looking at that data, but, unfortunately, the names of the holder may be Goldman Sachs, and it is Goldman Sachs on behalf of a group of clients.

MR. SCHWARTZ:  Yes.

MR. COYNE:  Even when you appear to get data that is promising, it doesn't get you all the way there.  But in our continued work in this area, that is something we would like to do more on.

MR. SCHWARTZ:  What is your sense of institutional holders in Canada, their holdings of US utilities?

MR. COYNE:  Growing, is our assessment.  Again, looking at those that are looking to acquire a utility, utilities don't get sold often, but the last experience that we had was there was -- I think most of the private equity capital came from Canada -- that partnered with Macquarie for the purchase of Puget Sound Energy.  

We see investors from Japan, from Europe and from Canada all actively looking to make investments, and Canadians are quite present in that discussion.

MR. SCHWARTZ:  Okay.  I had one more question -- well, two, actually, but on the subject of regulatory risk and whether there aren't significant - and perhaps there are not - significant differences that would affect cost of capital under US regulations and in Canada.  

The one that comes to mind is this question about used and useful, and I don't know the Canadian views on that, but are there issues like that that might differ between Canada and the United States that affect cost of capital?

MR. COYNE:  Yes.  The used and useful standard, I think, is broadly employed on both sides of the border.

It is incumbent upon the utility to show that the assets it has in place are there to serve its franchise area and its rate-regulated customers.  So beyond that --

MR. SCHWARTZ:  If it is disallowed.

MR. COYNE:  Pardon me?

MR. SCHWARTZ:  If it is disallowed subsequent to becoming used and useful, there is a bit of a controversy about how that should be handled in the States.

MR. COYNE:  Well, yes.  If there is a finding that an asset is not used and useful, then it would be -- it would be at the expense of their shareholders or a written-off asset.

MR. SCHWARTZ:  Yes.  So I asked whether you are aware of similar regulatory risks that might differ as between Canada and the United States.

MR. COYNE:  Insofar as used and useful, or disallowance?

MR. SCHWARTZ:  Well, I don't know -- that is just one kind of cost of capital regulatory difference that might exist.

MR. COYNE:  Sure.

MR. SCHWARTZ:  I wondered if you were familiar with others.

MR. COYNE:  Well, we have looked at the issue of disallowances, both in the US and Canada, and find that you can find them both in the US and Canada.

More often than not, it is not based on a finding of used and useful as much as it may be due to a disallowance of certain costs that were deemed to be unsuitable by the regulator, in terms of full pass-through to their utilities.

But it is the exception on both sides of the border.  I think utilities, by and large, understand what the rules are, in terms of placing assets in into service and passing through costs.

So we certainly don't find a consistent track record of disallowances really on either side of the border.  I think they're much more the exception in both places.

And our views on this were consistent with the NEB in that regard, is that there are exceptional cases of disallowances, but not such that it would -- if your question were pertaining to the cost of capital, it would impact an investor's view so that they would think it was, that they were at an undue risk of disallowance.  

There hasn't been a material pattern on either side of the border, to us, that would indicate that it would impact an equity investor's view of the appropriate cost of capital.  There is always some risk.  There is no guarantee on cost pass-throughs on both sides of the border, because utility management has to show they have been prudent, in terms of employing their management, to both building new assets and putting them in service, as well as managing the existing ones in their care.

MR. SCHWARTZ:  All right.  So then I was stating your view, is that there are really no significant differences between Canada and the United States, regulation of utilities that would affect cost of capital?  

MR. COYNE:  Well, that is very broad. 

MR. SCHWARTZ:  Yes.  So is your statement that they're comparable.  

MR. COYNE:  Well, no. 

MR. SCHWARTZ:  In regulatory terms, I mean I think that is sort of what you said. 

MR. COYNE:  We were quite specific because we looked at our proxy group companies.  We exercised great care in that regard.  

I think to an equity investor, they view utilities in the US and Canada as being comparable.  I think we saw strong evidence of that yesterday.  Equity investors look at opportunities on both sides of the border.  So I think, in that general sense, it is true.  I think the standard for our work here needs to be higher than that.  

So we looked at specific companies and their specific regulatory treatment and we're not making a statement as broad as all utilities in Canada are comparable to all utilities in the US from a regulatory treatment standpoint.  

I think those -- I think the regulatory treatment is based on the same set of guiding principles and court decisions, but I would not say it is exactly the same.  

MR. SCHWARTZ:  Thank you.  

MR. JANIGAN:  Thanks very much.  

Panel, my name is Michael Janigan, with the Vulnerable Energy Consumers Coalition.  I have a few questions to ask you, and I am mindful of the fact I am at my favourite time, just before people want to eat.  

MS. BRICKENDEN:  What I propose is that we allow at least another 15 or so minutes, I would like to do that.  Is everyone all right with that, if we delay our lunch break?  Go ahead. 

MR. JANIGAN:  The heads are nodding but their stomachs are disagreeing.  

I wonder if you could look at your slide, "The application of the fair return standard."  I think it is -- I don't know quite how the slides are numbered but I think it is about number 3. 

MR. COYNE:  Number 3, yes.  

MR. JANIGAN:  As I understood in your discussion this morning, and if we look at the bottom of the slide the financial integrity, the capital attraction, and the comparable investment test.  I believe, Dr. Coyne, you indicated that the -- it is very important not to overemphasize the first two, financial integrity and capital attraction, and neglect the comparable investment.  

Am I paraphrasing that correctly?  

MR. COYNE:  I think that is fair, yes.  All three are important.  

MR. JANIGAN:  Yes.  And it follows from that that, I guess, you believe that a regulated utility in its ROE may be able to meet the first two but may not be able to meet the third.  

MR. COYNE:  We have seen that circumstance, yes. 

MR. JANIGAN:  Do you think that is what is happening in the current case?  

MR. COYNE:  I think by and large -- by and large, that is true.  I do not see signs of financial integrity.  We have some concerns about the credit metrics as we report, I believe it is in -- on page -- I will have it here in a moment.  

On page 21, we cite the fact that credit metrics for some of Ontario's utilities are weak compared to what the credit rating agency standards are.  That gets us not to the point where it is threatening financial integrity but it does give us some concern about capital attraction especially for expanding capital needs.  If you are close to this EBIT interest coverage ratio and you have a new capital investment to make, you very well may find yourself challenged to raise that incremental debt.  But I think the primary problem that we see in measures in terms of this comparable investment standard today with capital attraction being an issue if the situation continues.  

MR. JANIGAN:  Okay.  By and large what we have tried to do is to go back and look at the first two standards and try to estimate whether or not the third standard is being met, because we believe that effectively if the returns are too low then you are going to have problems in the first two standards.   Are you saying that that may or may not be correct?  

MR. COYNE:  It takes a while, depending upon the difference, you can go for some years, as we have seen, not satisfying comparability and you still may be maintaining financial integrity.  

You may be impacting capital attraction, but not to the point where you still can't raise debt.  You are probably going to see it more when you go to raise new debt and/or new equity, if it is based solely on your regulated utility operations.  

MR. JANIGAN:  I was struck by the fact that, I think you said there was about a 36 percent difference that may be arising between returns at the moment.  

MR. COYNE:  Right.  

MR. JANIGAN:  Effectively, if we're talking about utilities of similar risk and that the markets are sufficiently integrated, why would any investor want to invest in a regulated utility that is earning 36 percent less than a comparable utility in the United States?  

MR. COYNE:  Well, I guess there are two answers to the question.  One is, for existing investors, those that own the utilities today, they have an obligation to serve their existing franchise area and customers and so they don't really have a choice.  They can't stop investing capital and maintain the system.  That would ultimately do more harm than good to their system and the initial investment they made in the first place.  

But when it goes to incremental capital, I think that is what we're seeing being harmed today.  I think that is - that is why we're seeing this significant interest in investing outside of Canada.  I mean, we have real conversations with utility company executives in Canada that say, we just don't want any more of this.  You know, we need to do better for our shareholders than what we can do with our Canadian regulated franchises, and this is just something we don't experience in other -- in other facets of the work we do.  We will find utilities that may complain about jurisdiction A or B and they didn't like the last rate case, but nothing that is quite at the level that we see in Canada today where there is this uniform dissatisfaction with allowed returns and equity ratios. 

MR. JANIGAN:  I recognize we should perhaps be concerned about some investors' unwillingness, but it seems as if that the regulated utilities are able to be, able to attract investment sufficient to meet their incremental needs.  And to attract it at a reasonable level.  At least that seems to be what we can glean from the 2009 statistics. 

MR. COYNE:  Even if that is the case, that's not satisfying the fairness standard, and I think the conversation really illustrates the point we're making, is that that is only two legs of the fairness standard stool.  You have to be able to satisfy all three, otherwise the Board is not meeting its statutory and legal obligations.  

MR. JANIGAN:  I recognize that, but getting back to, I guess, the test that we have always used that somehow, if you don't meet the comparable investment standard at some point in time you are going to see some impact on the first two standards, it is difficult to say that that is occurring at the moment. 

MR. COYNE:  Oh, it is.  I can say definitively that is occurring.  We can say definitively that Canadian utility holding companies are seeking to invest outside of Canada as a result of the formula. 

MR. JANIGAN:  But -- 

DR. GASKE:  The companies that are already in the business, though, they do have this obligation to serve.  They take it seriously.  They do continue to invest but they minimize their investment, I think is a generalization you could make.  

And they, for the most part, feel that, or at least they're rolling the dice.  They are taking a risk that this Board, other boards in Canada will increase the rate of return to a fair level.  

So I think a lot of what is going on -- I have heard this from quite a few companies now -- is that they do take, they are hoping and expecting that some change will be made.  

MR. JANIGAN:  Well, I am certain that such an opinion exists.  I guess I am looking for the empirical evidence and that is difficult to come by.  

MR. COYNE:  Well, the empirical evidence can be seen in terms of the number of investments that Canadian utility holding companies are making outside of Canada, in the US and elsewhere.  I think that is primary evidence.  

As we're showing here with our credit metrics, over time these are weak credit metrics that could ultimately threaten the debt rating agencies which is a different threshold than the ability to attract new incremental capital.



But it is not -- utilities are like ocean-going vessels.  It takes a lot to move them off course.  And it is really taking -- taken 10 or 15 years of what's occurred underneath the formula to promote these types of changes.  

So you are not going to see valves that are turned off or pipelines being taken up in the street.  But what you do see is an incremental preference for investment away from what they perceive to be an insufficient return, and that is how it works in the utility business.

It is not a matter of showing up and seeing the lights off in a store because they stopped earning a profit that day.  It happens slowly and over time.  But, ultimately, it happens at the expense of making infrastructure investments where returns are not deemed to be sufficient.  

But utilities will not close down shops.  If they go from eight, to seven, to six, to five, you begin to -- obviously you begin to worsen the credit metrics, and then financial integrity and capital attraction, but, generally, especially for a diversified holding company, these are lower standards, at least in today's market, than the comparable investment standard is.  But you have to meet all three.

DR. GASKE:  You will see over the course -- these are long-lived assets.  So over the course of a generation, you can see severe changes in the quality of service.  They will never jeopardize the safety of the service, but you will see declines in the quality of service.  But it takes a long time before it shows up.

MR. JANIGAN:  And I take it -- is it a fair summary of your evidence that effectively your assessment of whether the current formula is meeting the comparable investment standard is based primarily on the evidence from US utilities?

MR. COYNE:  No.

MR. JANIGAN:  That's not fair?

MR. COYNE:  No, no.

MR. JANIGAN:  Why not?

MR. COYNE:  The evidence that we use, based on utility data, is part of what we do with our DCF and CAPM analysis to estimate a fair return.

But the evidence is, you know, we use a Canadian -- we use a pure Canadian sample, with all of the problems associated with it, and it is still a much higher result than the existing formula result.  We use comparable -- we have done comparable earnings analysis using low risk Canadian industrials and the returns are much higher.

What we have just described, in terms of the ability and desire -- desirability of investing in Canadian utilities versus elsewhere, every one of those signs points to the same thing.

And as we saw with yesterday's financial panel, I mean, it is broadly recognized that the returns are not comparable.  It is not just based on a narrow comparison to US allowed returns.  

Dr. Vander Weide yesterday reported his six tests and every one came up showing the same example.

There is a crescendo here of reports from equity analysts and credit rating agencies that are all pointing to the same direction.

MR. JANIGAN:  But to the extent you make the assessment that the regulated formula in Ontario utilities has fallen below the comparable investment standard, by and large, that is based on your view of what utilities are earning in the United States of similar risk.  Would you disagree with that?

MR. COYNE:  Well, I would not put it the way you have put it.  We rely -- quite frankly.

Yes, we do rely on information taken from comparable US utilities in making that determination.

MR. JANIGAN:  Okay.  Let me just touch upon an area that my friend, Mr. DeRose, dealt with you briefly, and that deals with the relationship between the authorized returns as a function of bond yields that you presented in your 2007 evidence and the similar figures that are presented in the 2009 evidence.

The 2007 evidence had in it Ontario data from 1985 to 1997, and I believe you indicated that that data had been eliminated, because it was ancient, in terms of being able to do an appropriate analysis.  Am I correct on that?

MR. COYNE:  Well, we had more recent data that we felt better reflected current capital market conditions and relationships between allowed returns and bond returns.  It is okay to use ancient data if it gives you information and supplements the information you have available to you.  But since then, we have gone on the formula in Ontario, so we felt as though we had a better data set to use.  

It wasn't as ancient, per se, but we just had better data to use.

MR. JANIGAN:  By eliminated, I assume you eliminated all of the Canadian data, did you?

MR. COYNE:  No.

MR. JANIGAN:  No?

MR. COYNE:  Specific to which question?  Specific to our regression analysis?

MR. JANIGAN:  Yes.

MR. COYNE:  We used a sample of US allowed returns -- 

MR. JANIGAN:  Okay.

MR. COYNE:  -- because of the problem of the formula that gave a circularity in that data and the fact that all we had was the old data, yes.

MR. JANIGAN:  I am just quarrelling why, if you used data from US utilities from 1989, why you wouldn't use data from Ontario utilities up to -- from 1985 to '97 that was in your initial report, because there are -- I mean, you do do other things in your report that uses data of vintage that is considerably longer than 1985, I believe.

MR. COYNE:  Right.  In some cases, equity risk premium, we go back to the '50s in terms of measuring that, that's true.

The reason for that is that prior -- during this period of time, '85 through '97, we had very different capital market conditions than we have today.  We don't have any offset modern history like we had with the equity risk premium that gave us a balance.  So we only had the old picture.  We didn't have the new picture that we could use with it that would give us a balanced perspective over time.

MR. JANIGAN:  You --

MR. COYNE:  By the way, I should add that every analyst in this proceeding - Kathy McShane who will speak, John Dalton who will speak, I believe Dr. Vander Weide, if I am not mistaken - all have reported that a coefficient in the order of 0.45 to 0.50 better reflects the relationship between bond yields and the current elasticity factor.

MR. JANIGAN:  I think that reporting or that particular finding, though, is based primarily on US data.

MR. COYNE:  I believe it would have to be, for the same reason that we report, because you just don't have a non-formulaic set of data you could use.

MR. JANIGAN:  What concerns me is the difference in 2007 that your table showed between the coefficient in Ontario and that in the US.  Doesn't that cause you some difficulty or problems in terms of coming to the conclusion that basically the US data is preferable?

MR. COYNE:  Could you point to the coefficient, specifically?

MR. JANIGAN:  Yes.  If you look at the X, you've got -

MR. COYNE:  Are you in the 2007 report?

MR. JANIGAN:  Yes, I am.  Sorry.

MR. COYNE:  Which page?

MR. JANIGAN:  Table 2.

MR. COYNE:  Okay.

MR. JANIGAN:  You see a much weaker relationship in the interest rates in Ontario than in the US.

MR. COYNE:  I see the opposite.  The R-squared for Ontario data was 0.65, and the US data was 0.78, showing a stronger relationship.

MR. JANIGAN:  If you look at the X, the coefficients, they seem to be --

MR. COYNE:  Well, that's the very point, is that we're saying there is a stronger statistical relationship in the US data than there was in Ontario, and the coefficient there is 0.46 versus 0.86 in the Ontario data.  And we have since updated that analysis of the US data with both corporate bond yields, as well as US bond yields, and find this relationship and the 0.45 to 0.50 range to be the better indicator.

MR. JANIGAN:  But doesn't that cause some concern in terms of making a direct comparison between the utilities in either?

MR. COYNE:  Well, again, look at the evidence.  If we can go back and look at -- the reason we are sitting here today, I think, is by and large because half the problem was that that elasticity factor is too large.

If you go back and -- what's the figure that has the back-cast charts on it in our current table?  Alex, if you would be kind enough to bring up -- to bring up page 14?

MS. BRICKENDEN:  While you are looking, we could resume after our break.  If our guests from Concentric here would be willing to come back after the break, we could continue with some questions, if you would like that.

MR. JANIGAN:  I can wrap this up probably pretty quickly.  Do you want me to wrap it up in two minutes?  Am I the last questioner?

MS. BRICKENDEN:  I believe so.

MR. JANIGAN:  Okay.  I just have one more question on appendix G.

MR. COYNE:  If I could just make the point that I wanted to make with that chart --

MR. JANIGAN:  Sure.

MR. COYNE:  -- on page 14?  I'm sorry, page 14 in the slides, today's slides.  You will see that the index using the factor of 0.75 has been responsible, that plus the fact it was tied just to Canadian bonds, for leading us down to the ROE results that we have today that will not pass the fairness test.

So to suggest that that was a better or more accurate indicator, if it was 0.86, the gap would even be wider.  So it would just create more of a problem.  

MR. JANIGAN:  Are any US utilities on a formula?  

MR. COYNE:  California has just adopted a formula. 

MR. JANIGAN:  What are the details of that, do you know?  

MR. COYNE:  By and large they established an ROE based on a combination of -- if I am not mistaken I believe it was both DCF and CAPM methods.  Correct me if I am wrong, Julie.  

I will look at that on the break but I believe it was a combination of DCF and CAPM. 

Then they have established a formula that is tied to a coefficient of 0.50, if memory serves me well, times the change in the corporate bond yield.  This is a US corporate bond yield.  

That is the first commission in my knowledge to adopt a formula like this, in modern time.  New York experimented with one over a decade ago and was displeased with it and ultimately abandoned it.  

MR. JANIGAN:  All right.  Now your adjustment mechanism on appendix G, just so that I understand part B of that adjustment which is 50 percent, that is the weighted average of North American rate case decisions.  

I take it that that average would be overwhelmingly composed of or be calculated on overwhelmingly American companies?  

MR. COYNE:  Today it would be, because that's what is in the ROA index.  I think it is appropriate, as we have done with the other side, it is obviously –- the other side of the equation is the Canadian utility bond yield, as there -- if there are cases of Canadian litigated returns that would incorporate the same type of market evidence, we would certainly endorse including them in that same index, but that is true today, yes.  

MR. JANIGAN:  Thank you, panel.  Those are all of my questions.  Thank you very much for your indulgence. 

MS. BRICKENDEN:  Thank you, Michael.  With that I would propose that we do break for lunch and, like yesterday, I don't want to be cutting into people's time so could we please get back together at 1:20.  Thank you. 

--- Luncheon recess taken at 12:20 p.m. 


--- Upon resuming at 1:20 p.m.

MR. GARNER:  So what I would like to do, we do have some questions for our panel from Concentric, but I think we are just -- they're just walking in the room.  Their timing is apropos.  You can come up here, but what I am going to suggest is you just take a seat and that way, when we're finished, if you want to make an exit at that time, or if there is not enough -- come on up.

MR. COYNE:  We'll be staying.

MR. GARNER:  John is up here for after the last questions of Concentric.

Before we start, however, one thing I would like to canvass the room about is that you will notice in our draft schedule that we are -- as of Thursday 3 o'clock, we are -- we have allocated time for other presenters.  But as of right now, I do not -- we do not have any other presenters.  

So the first thing we would like to canvass is whether people would like to use that time to come up to the dais and give a presentation.

Fred?

MR. CASS:  Mark, I just wanted to point out Enbridge had some written comments of its own, in addition to consultants that had worked for Enbridge.  So I think Enbridge would take some time to come and make a presentation.  I don't expect it to be long.

MR. GARNER:  Do you have any sense of how long it might be?

MR. CASS:  Fifteen, 20 minutes is the expectation.

MR. GARNER:  Okay, thank you.  Does anybody else in the room have a desire to get up here and present to the room?  

MR. SHEPHERD:  Mark, is it contemplated there will be written submissions after the end of this conference?

MR. GARNER:  I think that probably will be the consensus.  What we are going to do toward the end of the conference is survey the room about how they felt about that.  But I am getting a feeling many people would like to have that opportunity.

MR. SHEPHERD:  So if there is going to be written submissions, then we don't need to make a presentation then.

MR. GARNER:  I am kind of disappointed you won't be up here, Jay.  

MR. MONDROW:  I don't think IGUA will want to make a presentation on Thursday or Friday, but I would actually quite strongly advocate, as it were, for an opportunity to collect thoughts and make some submissions in writing, and, indeed, to have sufficient time to do that to digest not only the materials over the last day or so, but all of the written materials that were provided.

So it is more than kind of a casual request.  It is actually quite a firm recommendation, I guess I would put it that way, with respect --

MR. GARNER:  Thank you.  Does anybody have a general sense of the time they need?  So we're thinking about three weeks, whilst are people fresh in their mind.  Is there an amount of time people are looking at?  Paula?

MS. CONBOY:  Mark, we would also like to take some time to gather what's been discussed and the questions that we have heard over the past couple of days and make a submission.

It may also be that, depending on how this afternoon and Thursday pans out, that somebody from the Coalition of Large Distributors will make some comments, not a formal presentation - otherwise would he would have given it to you by now - but to be able to make some comments, please.

MR. GARNER:  Thank you, Paula.  Might it be helpful, when you know the amount of time, et cetera, just to pass it on to Lisa or myself or one of the team?

MS. CONBOY:  Absolutely.

MR. GARNER:  Thank you.  With that, I think we have a question of our last panel, and I think Vice-Chair Mr. Kaiser has a question.  Your microphone is not on.

MR. KAISER:  Is it on?

MR. GARNER:  It is now.

MR. KAISER:  Dr. Coyne, I just had a few brief questions.

You have focussed our attention on what I call box 3 on page 3, which is the comparable investment box, and essentially say that we have ignored that box for one reason or another; and, if we don't pay attention to it, amongst other things, we're not complying with the law in terms of the fair return standard.

You pointed to various examples, qualitative examples for the most part, where utilities are not investing in traditional utility activity, but are going to the States investing in this, that, and the other thing.


Is it possible that their investment decisions in that regard are driven more by the wish to diversify as opposed to the fact that they're unhappy with the returns that this Board is giving them?  

After all, we had seen over 30 years these traditional stand-alone utilities grow into holding companies, with a wide array of investments in different activities, which -- it could reflect simply a desire to diversify.

Would you agree with that?

MR. COYNE:  Are we still miked up here?

MR. GARNER:  Yes.

MR. COYNE:  I think it is true and that it is a natural evolution for Canada's utility holding companies to want to diversify.  So I would submit that it is true that that is a part of the motivation to invest in the US and elsewhere.

But I think that at least in our discussions with them, they also explicitly address the issue of the regulated returns they're earning in Canada as being an impetus behind that desire to diversify.

So I think both factors are really true, that it is a desire to diversify, but I would say that it is prompted, in no small part, by what they perceive to be inadequate returns with the regulated holdings in Canada.

MR. KAISER:  Now, back in the day when Mr. Janigan and I were much younger and we were appearing before the CRTC in Bell Canada cases, there was a class of shareholders which we used to call widows and orphans that were very happy investing in Bell, because they thought it had security because they thought it had a monopoly franchise.  And they valued that and they were prepared to accept lower returns.

Does that shareholder still exist?

MR. COYNE:  I think less so.  I think that is a popular view of what utility shareholders look like, but these days I think very sophisticated institutional investors are probably, by far and away, the larger investors in utility stocks, as they are in the market more generally.

But -- so I think that is less true.  My mom still holds shares of the Bell companies that I try to talk her into diversifying away from, and she will hear nothing about it.  She says, They have served me well my whole life and I want to stick with them.

I know there are shareholders like that out there, but I think they're more of an aberration, a smaller part of the overall stockholder universe than they used to be. 

MR. KAISER:  Now, you focussed our attention on these words "comparable investment" in box 3, and you have referred us to this qualitative evidence from your client, from Enbridge, that they're investing in US pipelines where they can get negotiated returns.

We have that class of rate setting in Canada.  It is called group 2 companies that the NEB has.

But in those markets, generally, those are competitive markets, and other pipeline companies can come in and compete with the pipelines there.  Do you actually think that an investment in a company like Enbridge Gas that has a monopoly franchise is comparable to an investment in a competitive market?

MR. COYNE:  Steve would like to offer our first opinion on this, so I will let him.

DR. GASKE:  It is, in the sense that once they're in place, they are monopolies.  The thing that makes them particularly good examples, though, is the fact that they don't have any committed capital.  They're not stuck.  They have a choice.

And so when they compete, there are other potential pipeline companies who are also competing.  The winner isn't somebody who gets the formula return.  The winner is somebody who negotiates something quite a bit higher than the return.  So a competitive outcome is higher than that return.

Once they're in place, they typically have long-term contracts that mitigate the risk so that they become pretty much similar to somebody like Union.

But the major difference -- or Union or Enbridge.  The major difference is that they haven't committed their capital yet, and, therefore, they give us a good sense or measure of what the market truly is like if somebody doesn't have some capital.

MR. KAISER:  They're not monopolies.  If Enbridge invests in this pipeline where they're getting negotiated returns, the reason they get negotiated returns from the FERC or in the case of the NEB is because other entrants can come in, tomorrow, without anyone's approval.  Does that not change the rate-of-return and change the determination as to whether the investment is a comparable investment?

DR. GASKE:  I would agree there can be higher risk in the long run.  The way that the companies manage that risk is they lock up long-term contracts with customers that guarantee certain amounts of payments over long periods of time, 18, 19, 20, 25 years.

So that they have a good, very good strong opportunity of getting their investment back over that time period.  So they do have a little bit more risk, but they become very, very comparable to a utility that has a franchise.

MR. COYNE:  I would add to what Steve said by saying the comparisons we're make making, however, are for like-kind investment in regulated gas and utilities.  So we are not introducing non-regulated or riskier investments into the comparisons that we're making, A.

And B, when we describe the flight of capital from Canadian holding companies to US enterprises, they're looking for like-kind utilities.  They're not necessary -- in the case of Enbridge they have a different portfolio, but I am thinking of companies that are looking at just plain old electric transmission assets, plain old electric and gas distribution companies, because the returns on net we calculated are about 30 to 36 percent higher.  That is just such a big difference in like-kind assets.  So ones that aren't exposed to more risk than the ones we're comparing them to here in Canada or Ontario.

So it is not -- it's not the case that they're exposed to greater risk than the ones that we're comparing them to.

MR. KAISER:  I just used the example because you used the example in the reference to negotiated rates, and I know I have looked at the rates of return that those companies with negotiated rates get in the US and Canada and they're much higher in both countries than the garden variety monopolies.  You would agree with that?

DR. GASKE:  That's correct.  And what they do to manage their risk, though, is to use long-term contracts.

MR. KAISER:  I understand that point.  Thank you, gentlemen.

DR. GASKE:  All right.

MR. GARNER:  If there are no other questions, then we will change.  Thank you again.  Our next speaker is John Dalton, from Power Advisory and, again, in keeping with the tradition, John, I will let you introduce yourself.

MR. DALTON:  I think Mr. Penny is going to introduce me.

MR. GARNER:  Sorry, in keeping with the other tradition.

MR. PENNY:  Keeping with my tradition.  I am wearing a different hat today because my partner, Charles Kaiser, can't be here so he asked me if I would help out in the presentation of Great Lakes Power Transmission's presentation.

So because, again, because Mr. Dalton hasn't actually testified or appeared in this kind of capacity in an Energy Board proceeding before, I thought it would be appropriate to introduce him rather than to leave him to do it himself.

John is the president of Power Advisory based in Massachusetts.  John has a B.A. in economics from Brown and a MBA from Boston University.  He's been a consultant in the energy industry for over 20 years, having worked for RJ Redden & Associates, Reid Consulting Group and Navigant Consulting before heading up Power Advisory LLC.

John's professional experience has included energy market analysis, power procurement, project valuation, and strategic development.

He has done consulting work on a wide variety of energy and infrastructure issues for a host of private and public sector participants in the power sector.  He has advised governments including many of our provincial governments and western Australia, government agencies such as the OEFC here in Ontario, and energy regulators including a number of engagements for the Ontario Energy Board.

In this case, John was engaged by Great Lakes Power Transmission LLP to provide an independent assessment of whether the current economic and financial market conditions warrant adjustment to the OEB's formula-based ROE methodology.

John prepared a report in April in the first round of consultations and another report in September, both of which have been filed.  And with that, let me turn it over to John for his presentation today.
Presentation by John Dalton, Power Advisory LLC

MR. DALTON:  Thank you, Michael.

I assume everyone in the back can hear me?  Great, excellent.  So what I would like to review today is as Michael indicated, I am going to be reviewing the report that was filed on September 8th, and a couple of points I would like to make.

First of all, getting into why it is important to get the equity risk premium formula right, and then go through some of what I believe is compelling evidence that the formula is broken.  And I think this is demonstrated to a large degree by the unrealistic and counterintuitive values that it has produced most recently.

Then talk a little bit in terms of some of the elements of the formula which give me concern and, in particular, its simplicity and the fact that it fails to consider that long Canada bonds and utility equities are different, and are driven by different financial market considerations.

I will talk then briefly about the recent National Energy Board TQM decision and some of the evidence in there where the NEB is suggesting that the formula is in fact broken.

Then I would like to briefly review some of the alternatives that we considered which, based on our analysis, perform better than the existing ERP model.

So we were engaged by, as I indicated, by Great Lakes Power Transmission to provide an independent assessment of the Board's ERP formula, and to assess whether the resisting ERP formula and parameters provide a proper basis for establishing the required return on equity for utilities in Ontario.  And to the degree we found that it doesn't represent a proper basis for establishing these return on equities, to put forward some alternative formulas or models that might do a better job.

What we found in our analysis was that the formula is broken.  I think that is the most simple way to put it.

While the current market conditions exacerbate the formula's shortcomings, from our perspective it has provided inadequate returns for a considerable period of time.  As such, it hasn't satisfied the fair return standard.

Consequently, the formula's deficiencies will not be remedied when credit markets heal.

As I indicated, we think that there are better models and potential ERP formulas out there that will perform better using objective statistical tests.

So why is it important to get the ERP formula right?  I think that, you know, one thing that is striking for me is when the formula was first adopted, it was being used primarily to cover the return on equity for the gas distribution utilities and subsequently it was applied to distribution companies and ultimately to transmission investment.  So we are now talking about a formula which has one variable that determines the return on equity for approximately three billion -- $30 billion worth of investment in Ontario.

So it is worth rolling up our sleeves and making sure that this formula is doing its job, and I think based on the evidence that I have seen, that there is some concern there.

I think, as well, it is important to compensate the existing asset base fairly for -- and we're talking here about public and private investors and it is important, using the comparable investment test, that you treat both equitably and that you don't distinguish between a publicly-owned utility and a privately-owned utility.

Very importantly for private investors, I think that -- and this is something that the OEB -- excuse me, the NEB acknowledged in its TQM decision where it found that the increased globalization of financial markets has translated into a higher level of competition for capital.  It is important to essentially for private investors to get a fair return, given increased competition for capital.

This is particularly important for areas of discretionary investment.  I think that where we are right now in Ontario, there is a significant amount of discretionary investment that we're anticipating.  Now, this is reflected in terms of some of the mandates and the objectives in the Green Energy Act as well as the need for significant amount of capital replacement.  We have been in a situation where we haven't had to make major investments.  The capital stock is starting to turn over.  These are discretionary investments where it is particularly important to make sure that the ROE is satisfying this capital attraction standard.

Finally, I think it is important that you have a fair ROE to ensure that there is efficient allocation of resources and resulting investment decisions.  What I am talking about here is some degree of making sure that investment decisions between transmission and distribution investments and generation investments and conservation demand management, that those are made efficiently.  

Essentially, if you are understating the costs or overstating the costs of one of these investments by sending the wrong signal regarding the cost of return on equity, you're going to potentially over or under invest in terms of one of these areas, and that is going to lead to inefficiencies and higher costs for consumers, potentially.

So what's the evidence that the formula is broken?  I guess I view this pretty much as a canary in a coal mine situation.  We have had very volatile capital markets, and I think that from my perspective the evidence is pretty compelling.

We have an unrealistic ROE, which provides a 39 basis point premium relative to long-term debt, and I think as the Board itself has acknowledged in its compendium to the draft guidelines on a formula-based return on common equity for regulated equities, that one would expect that equity investors are going to demand additional compensation for the additional risks that they bear.

I think that the 39 basis points represent inadequate compensation for equities' greater risk.  

The second point of evidence here would be the fact that the ROE declined from 2009 -- in 2009 from 2008 by 56 basis points, and this is during a period when equities were subjected to unprecedented volatility.  And this is -- you know, the most concrete evidence that I found are some of the volatility indexes.

There's the MVX, which is traded on the Montreal exchange, and then there is VIX, which is traded in terms of the Chicago Board of Options Exchange.

Both of these have been at record levels at the end of 2005 and sustained into 2009.

One point that some of the parties I think have made suggested that utilities represent a safe harbour and that, in times of volatility, you will see some funds flow into utilities.  Some of the analysis that I did indicated that -- and this is focussing on the Dow Jones Utility Average versus the S&P 500.  What that analysis suggested, that the actual volatility of utility equities over the last 12 months increased by almost twice the rate of the S&P 500, the S&P 500 obviously being a very broad market index.  So what we're suggesting here is that utilities aren't necessarily a safe harbour, that they're experiencing volatility which is, in fact, greater than the market index overall, suggesting that utility stocks are more, not less, risky.

The graphic at the bottom is essentially a comparison in terms of the Dow Jones Utility Average, which is shown in blue, versus the S&P 500 over the last 12 months.  Obviously this is just for, you know, a visual presentation.  It is hard to draw statistical inferences from this data, but the analysis that I did suggested that there is, you know, risk here in terms of utility stocks, and they can't just be viewed as a safe harbour.

Additional concern I have with the ERP formula is it doesn't recognize that utility risks have increased since the formula has been set.  Recall that the formula was adopted by the Board over 12 years ago and there is obviously a lot that has changed.  

Most recently, I think what we're saying is increased revenue risk from greater uncertainty regarding future electricity demand, and this is evidenced, in part, by the uncertainty associated with the performance of conservation and demand management programs, as well as what conservation and demand management programs are going to be put in the field in the future and what's going to be their impact on revenues.

Probably of potentially greater importance I think would be the unprecedented declines in terms of the major electricity-consuming industries in Ontario, and I would point to two, in particular, the pulp and paper sector, where there's been significant losses and shuttering of facilities, as well as the auto manufacturing sector.

So I think in the last -- since the beginning of 2009, as of June, load had dropped in Ontario by over 8 percent, as reported by the Independent Electricity System Operator.  That is an 8 percent drop in load that was not in anybody's forecast.  And this is a risk that utilities are asked to bear, given the existing rate structure.

Another important additional risk is the magnitude of capital requirements that are going to be required in the future.  We saw yesterday that the Minister of Energy has directed Hydro One to undertake $2.3 billion worth of transmission investment, and I think that this investment represents about a third of their existing rate base.

So the magnitude of investment that we're talking about here is very significant relative to their existing rate base.  And that presents financial risk.  It presents challenges in terms of, you know, going to the debt markets, going to the equity markets, raising those funds.  And obviously, you know, that is a challenge for them.

In terms of some of the issues associated with how utilities are going to have to operate in the new environment from the Green Energy Act, obviously transmission has been identified as a key to unlocking the renewables potential that Ontario offers.  But the challenge here is that transmission facilities have lead times of up to five years, where generation projects have lead times up two years.  So you have to pre-build these transmission projects.  So that potentially creates risks in terms of building projects before the actual demand is there.

In addition, if you are going to accelerate the construction of these facilities, often transmission companies are going to be put in a situation where they have to order capital equipment before they have all permits in place.

So to the degree they're not able to ultimately get those permits, there is risk associated with recovering the cost of those capital investments. 
These are all risks that are not reflected in the ROEs produced by the current formula, given that they're risks that weren't evident in 1997.

So what about the simplistic nature of the formula?  As I indicated, it is being used to establish the return on equity for about $30 billion worth of investment, in very round terms, in Ontario.

What the formula assumes, simply, is that changes in utility ROEs can be explained by solely one variable; that's the change in long Canada bond rates.

I think, as the panel yesterday clearly indicated, long Canada bonds are distinctly different instruments than equities.

Utility equities have different and greater risks.  So it is not reasonable to expect utility equities over all conditions to be forecasted using long Canada bonds.

So the net result here is that the Board's formula is missing critical variables that influence the required return for utility equities.

I think that you will see what some of these critical variables are.  I think there is, you know, no variable in the formula that really reflects what drives utility equities in terms of the volatility of the market, or that reflects other better explanatory variables.

I think the final point on the slide is that one lesson from econometrics is that when you have an equation and you haven't included an important explanatory variable that can be used to forecast the independent variable -- here we're talking about utility returns on equity -- that when you have dropped this important explanatory variable, you are at risk of overstating the influence of the variables that remain in the equation.  

This would be one thing that would explain the fact that the -- as I have found and as others have found, that the coefficient in the current equity risk premium formula is too high.  And that the 0.75 should more appropriately be stated as 0.47 or 0.5.  

So if one has a formula which is overstating the relationship between long Canada bonds and utility equities, what happens when interest rates decline?  I think what you are effectively doing is overstating the appropriate decline in the return on equities, and I think that this is one of the things that has caused the existing formula to produce a biased result and to cause it to understate the appropriate return on equity.  

In addition, there's -- when the formula was initially set we were, as a number of parties have indicated the credit markets were very different conditions than they are today.  With a decline in long Canada bonds, there's a lot of -- there are three things that contributed to those declines in long Canada bonds.  Declines in inflation, declines in inflation risk premiums, as well as declines in bond interest rate premiums.  

The latter two of those can't reasonably be expected to result in a decline in required utility ROE.  

So in terms of the NEB's TQM decision.  As I indicated, my reading of that decision, the NEB is suggesting that the ERP formula very well might be broken.  The NEB found that the world had changed, but the formula had.  They indicated there were significant changes in financial markets and general economic conditions, increased globalization of financial markets resulting in greater competition for capital.  

One other thing that the NEB found was that US utilities, from their perspective, were a valid comparator to TQM, so that is something, I think, that has a bearing and is something that needs to be remembered.  

They also pointed out that the formula relied on a single variable and that changes in the TQM's cost of capital may not be captured in long Canada bond yields and essentially what they were doing is casting doubts on the fundamentals underlying the formula. I also note that Alberta and BC are evaluating their ERP formulas, indicating a concern with the formula's performance for their utilities.  

So what are some alternative formulas?  I am not here representing that this is the definitive analysis, in terms of what's the appropriate replacement formula.  What I have done was just do some quick analysis and indicated that, from my perspective, there are better formulas out there and I am measuring better in terms of standard statistical tests.  

What do these formulas look like?  And what did we do to come up with these formulas?  Essentially we did regression analysis using standard econometric techniques, looked at a range of different explanatory variables, corporate bond yields, government bond yields, and the volatility index, the VIX, and used them to figure out what equation provided the best results from a strict statistical perspective.  And came up with several different specifications which performed better than the existing ERP formula.  

I have outlined two here.  One, which relies on corporate BAA bonds where they were used as an explanatory variable, and then another which used long government bonds, but included with it a volatility index.  

In doing this analysis, given the concerns with the issue of circularity, this analysis was done on utility, US utility return on equities, and US financial statistics.  

So that is one point I would like to mention.  

My thought is that both of these models should be relatively easy to implement.  There is an issue, in terms of there isn't a consensus forecast necessarily for these variables.  That's something to be considered.  But I think you need to weigh the benefits of a prospective view that you get from a consensus forecast versus the bias that I think is readily apparent in terms of the existing formula.  So bottom line here is that there are viable alternatives to the current ERP formula that perform better using objective statistical techniques.  

Summing up, our analysis suggests the ERP formula needs to be fixed.  We recommend doing this without delay.  

We think that ROEs produced by the formula are critical to attract capital, given increased competition for capital in Ontario's significant capital budget for electric utilities.  

Finally, as our analysis indicated and as I have -- and I have discussed earlier we think there are viables (sic) to the current ERP model that perform better.  

Thanks for your attention.  

MR. GARNER:  Thank you.  Thank you, John.  

So with that, we will open up the floor and see if there are some questions of John.  
Q&A Session:


MR. MONDROW:  Thanks, Mark.  John, I am going to ask you a couple of questions about slide 5 and I really could have asked this of anyone but the only reason I am asking it now is because I had other questions for other people.  Not picking on you, but your responses may be informative, certainly for me.  

One of the points that you and others have made is that this and indeed the Board was concerned about in the spring, was that the 39 basis point premium for the ROE relative to the long-term corporate debt rate, if I've got that right, was a problem.  That the spread was a problem because the return on equity should be significantly higher than the corporate debt rate then suggested by -- or indeed that resulted when that -- let me back up. 

The return on equity should be significantly higher than the corporate debt rate than 39 basis points, and that was a problem.  

It seems to me, though, that -- and so the supposition is that 39 point spread was too narrow because there should be a bigger spread between the risk of corporate bonds and the risk of corporate equity.  But what if that weren't the case?  What if corporate bonds because of the particular financial situation became almost as risky as equities?  Isn't that possible?  Isn't that a hypothesis that is a reasonable one in the context of the financial turmoil that we saw at the end of 2008?  

MR. DALTON:  I guess if that were true, you are right.  If they became as risky, then 39 basis points could be the appropriate risk premium.  

MR. MONDROW:  But that would imply -- 

MR. DALTON:  If I can finish that. 

MR. MONDROW:  Sure, sure. 

MR. DALTON:  The point, though, is that, you know, equity gets paid after debt.  So equity is always going to be riskier --  

MR. MONDROW:  Right. 

MR. DALTON: -- than debt.  

MR. MONDROW:  If people thought the debt wouldn't be paid nor would the equity be paid, then they would be about an equivalent risk, right?  You would expect a smaller spread in that case.  

MR. DALTON:  Yes.  I wouldn't admit that we were at that point.  

MR. MONDROW:  All right.  And then Professor Booth suggests there was another driver and I think I did try to raise this earlier but perhaps not very elegantly.  There was another driver for the precipitous increase in the costs of corporate debt and that was a liquidity problem which really has nothing to do with risk premiums or risk spreads.  It was simply the exit from the market of corporate bond issuers and intermediaries that trade in corporate bonds that resulted in a liquidity problem for corporate bonds and therefore an unusually high price which we have seen recede since then.  

If that were true, well first of all, do you think there might have been a liquidity issue driving the collapse of that spread?  And if so, would you agree that that is not indicative of relative risk.  This is a different problem?  

MR. DALTON:  I would agree that liquidity was one of the things that was driving the increased spread between government bonds and corporate debt.  But I think, as well, you know that there were comparable factors that were driving utility and overall equities higher that aren't being reflected in the formula, and that that is what is causing the 39 basis points to significantly understate what is the appropriate spread between corporate debt and utility equities.

MR. MONDROW:  Okay.  Still on this slide 5, you presented this chart, and you will pardon my ignorance, I hope.  You used the Dow Jones Utility Average to demonstrate that utility stocks were more volatile, in terms of their trading prices, I guess, than kind of a broader community of stocks.

But I am not familiar with what's in the Dow Jones Utility Index.  Are these all rate-regulated utilities, or -- I am assuming it is a much broader sample than that.

MR. DALTON:  It is a little broader sample but, frankly, from my perspective, it is a much better sample than the S&P TX utilities index, where there you've got Canadian Hydro Developers, which is a renewable development company, not from my perspective the type of utilities that we're talking about here.  You have Energy Savings Income Fund, same thing, you know, more of a retailer.

You've got Northland Power, which is a generation project developer where most of its risk is governed by contract and performance issues associated with generation assets.

And, as well, you've got TransAlta, which is pretty much a pure play generation company.

So you've got, you know, four of the nine companies in this index which I don't think are representative of the type of utilities that we're talking about here in Ontario.  I think that the Dow Jones Utility Average is much more reflective of --

MR. MONDROW:  Yet others have emphasized the distinction between utility holding companies, on the one hand, and regulated utilities on the other.  But these are all utility holding companies in this index, aren't they?

MR. DALTON:  I'm not sure which index you're talking about.

MR. MONDROW:  The index you used, the Dow Jones Utility Index.

MR. DALTON:  I guess I would want to go through each one of the utilities, but I think, you know, that I would continue to make the point that I made earlier, that I think that that is a better reflection of the types of risks that we're trying to measure for Ontario, transmission and distribution utilities, than is reflected by the Canadian index.

MR. MONDROW:  I take that point.  I guess the question really is, and it is a rhetorical question in a sense, whether -- it may be a better reflection, but is it a good reflection of the companies that we're talking about?  And we have heard various views on that, and I guess your view is it is a decent reflection.

MR. DALTON:  I think the point here is we're trying to use the best reflection that we can, and I thought it was the best.

MR. MONDROW:  Okay, fair enough.  I have one more question, if I could, and that is kind of a general question.

On your slide 6 you go through a lot of risks that you say have recently arisen for -- really not connected with the financial market changes, but the Green Energy Act, the Ontario Government Policy Direction, but mostly -- well, in fact, exclusively, I would think, related to the electricity distributors, to some extent the transmitters with the long lead-time investment requirements.

You say that because of those increased risks, returns have to go up to compensate investors to attract the capital necessary for making those investments.

So I wanted to ask you two things about that.  One is -- for your comment.  One is that those are only risks that need compensation if there is a sense, among investors, that the regulator and/or the government in Ontario will not allow recovery of those incremental capital investments.  That is kind of the first proposition.

And the second thing I wanted to ask you is whether you considered the Board's work to address that sort of perception and, in particular, the Board's work on a policy to remove barriers to infrastructure investment and whether you think that maybe has addressed some of these theoretically possible risk perceptions.

MR. DALTON:  If I can address the second one first.

MR. MONDROW:  Sure.

MR. DALTON:  Yes.  I will acknowledge what the Board has done.  I think they have done a really good job in terms of being proactive there to attempt to address these issues.  But I think the more troubling issue that I have, and this is with respect to the Green Energy Act -- and this is from reading the papers.  

You know, we've got a very ambitious program that we're about to undertake, and, to speak frankly, the lead architect of that program might not be there to shepherd it through.

We have been in a situation where I have a hard time counting how many energy ministers that there have been, and so who is going to be essentially, you know, guiding the ship?  And when -- you know, if we make all of this investment in terms of transmission and distribution moving forward and it turns out that there isn't a need for it, and there's someone else who is now providing policy direction and providing direction overall, I think that there is increased risk.  

And I think that as an investor, I would be concerned about that.  I think investors are going to be concerned about it.

MR. MONDROW:  Okay.  Thank you.

MR. GARNER:  Jay?

MR. SHEPHERD:  I have four questions that will probably be pretty quick.  On your five slides, Mr. Dalton, you have -- you said the 39 basis point premium is too low.

What is a normal premium that you would expect in a typical market over long bonds, equity over bonds, corporate bonds?

MR. DALTON:  I am reluctant to kind of hazard a guess in terms of:  What is a typical market?  I think that, you know, where we stand today, we're not necessarily in a typical market.  But it is something probably, you know, close to maybe 300 basis points.  But, once again, I would caution you I am not convinced today we're in a typical market.

MR. SHEPHERD:  I don't know whether you heard yesterday we talked about the same issue, and in August Enbridge issued debt at 5.75 percent, 575 basis points.  And at that time, their allowed ROE by the formula is 8.38 percent, which is a 263 basis point spread.  And we had one of your -- one of the people from the financial community said that sounds about right.  That sounds about right.  

That's the right sort of range?

MR. DALTON:  In terms of where we stand today, I am not convinced that it is the right range.  The analysis that I have done suggested that the right number is appreciably higher than that.

MR. SHEPHERD:  So you are saying that the bond spread in the current market should be much higher than it currently is?

MR. DALTON:  I guess I would I haven't done the analysis to see what is really driving that.

MR. SHEPHERD:  Okay.  The second question is you talked about the risks associated with transmission projects.  You are focussing on transmission, because obviously your client is a transmission company.

I take it your references to the Minister perhaps changing jobs shortly is sort of a general question about whether transmission in a major change like this has political risk; is that right?

MR. DALTON:  Yes.

MR. SHEPHERD:  And so this is the same sort of thing as in market opening, and that sort of stuff, where the policy makers can change the rules, and there are some players that have higher risk because of the nature of what they're doing, like transmission companies; is that right?

MR. DALTON:  That's right.

MR. SHEPHERD:  Okay.  The third question is, on your slide 7, you talked about the problems with the ERP formula.  I understand you're talking about the change year to year.  I get that, but the formula starts -- it started at rebasing with an estimation of the -- the starting point using CAPM, right, using largely CAPM in 1997?

MR. DALTON:  In '97?  I frankly haven't reviewed in terms of what was the process for setting the formula in '97.

MR. SHEPHERD:  Okay.  So here is my question.  The Board's approach has been that the classic CAPM approach - which is you take a risk-free rate, you estimate from empirical data what the premium should be over it, and that is how you end up with your ROE.

I take it, though, what you are saying is that is just wrong, that you can't start from bonds, from long Canada bonds, because they're not the appropriate base for this calculation?

MR. DALTON:  No.  I didn't say that in terms -- we're not talking about -- there's a whole argument about whether long Canada bonds are the appropriate measure of what is the risk-free rate.  I am not wading into that issue.

MR. SHEPHERD:  Okay.

MR. DALTON:  It is more if you are going to develop a formula which is going to be used to explain utility return on equities, I think that if you are going to have long Canada bonds as one of the explanatory variables, you need something else in that formula that better reflects the risks of utility equities.  You can't just assume that a different financial instrument such as long Canada bonds can be used to explain the changes and investor return requirements for utility return on equity.  

MR. SHEPHERD:  So if I understand what you're saying correctly, even if you start with a risk-free rate at a premium that produces your first number, that doesn't mean that changes in the risk-free rate will have a predictable change in the ROE -– that you need something else.  There is no known correlation between changing the risk free rate and changing the ROE.  

MR. DALTON:  Right.  The only way that you are going to -- that that such an equation is going to work is if there is no kind of change in terms of credit risk or return risk.  

And if you are, and it is in a market where those risks don't change over time, the formula might do its drop.  I think what we found is it doesn't always do its drop.  

MR. SHEPHERD:  It is -- I take it you would agree that while at any given point in time that sort of formula will not necessarily be right, over a long period of time it will generally be true?  That is if you follow a formula through over a long period of time like that -- 

MR. DALTON:  If you had the right formula, I think that, you know there's two issues that I have with the ERP formula.  

The first of which is the coefficient.  I think that the coefficient is too high.  

MR. SHEPHERD:  The 75 basis points?  

MR. DALTON:  Exactly. 

MR. SHEPHERD:  Seventy-five percent. 

MR. DALTON:  The second was I think you need another, a better explanatory variable.  

MR. SHEPHERD:  Okay.  And the last question is:  You're saying today the Ontario ROE is wrong.  Do you have an estimate of when it went off the rails, when it started to be wrong?  I mean, is this something that just happened last year?  Or is this something that has generally been wrong for a while?  

MR. DALTON:  Well, I think if you take my argument to its logical conclusion, that is essentially that the coefficient is too high, any time you started to get interest rates, long Canada bond interest rates to change, the formula was producing an incorrect result.  

MR. SHEPHERD:  Okay, thank you.  

MR. DALTON:  But I think that, you know, there's a question of degrees here.  So I think that initially it probably wasn't that much of an issue and I think, as well, we're potentially in the situation, as people indicated yesterday from, you know, 2003 through 2005, where there was lots of liquidity in the market which were driving down investors' requirements for returns, and that probably was masking some of the problems in the formula.  

MR. GARNER:  I think I have Vince next.  Vince?  

MR. SCHWARTZ:  Thank you very much.  

I have not read your underlying report so maybe it is there.  Could you describe very, very briefly, the bonds in chart, I guess chart 5 that you use to generate the 39 basis point difference.  Was it one bond per each utility that had an ROE or was it a series of bonds?  

MR. DALTON:  This is the 39 basis point differences, the bond rate that is produced by the OEB's cost of capital formula for non-utility bonds.  

MR. SCHWARTZ:  Is it a yield to maturity number?  

MR. DALTON:  I can't answer that.  

MR. SCHWARTZ:  I'm sorry, then I am not asking my question properly.  If we have a ROE, it's a percentage number, a percentage return, so if we're going to compare that to a bond, a return on a bond, it might be the yield to maturity on a bond.  Is that what we're comparing?  

MR. DALTON:  I'm having a hard time answering your question.  What I am comparing was the number that was produced in I think the Board's February, I forget what day it was -- 

MR. PENNY:  It is February 24th.  I think the confusion may arise, Mr. Schwartz, because those numbers come from the Energy Board.  It is the February 24th, 2009 letter that was part of the initiation of this process and they cite on the second page the long-term debt rate at 7.62 percent.  I think that is what generates the...

MR. SCHWARTZ:  All right.  Thank you very much.  

MR. DALTON:  Sorry I couldn't be of more help. 

MR. GARNER:  Are there other questions?  

MR. SHEPHERD:  Could I have a follow up question to that? 

MR. GARNER:  Okay.

MR. SHEPHERD:  That 7.62 rate, that's not a utility bond rate; right?  That is a corporate bond rate?  

So, and so you are comparing a corporate bond rate to an ROE that is a utility ROE.  That is not the right comparison, is it?  

MR. DALTON:  I guess I would want to know more in terms of what that corporate bond rate is in terms of what's the underlying, you know, what's the rating in terms of that corporate bond rate.  

MR. GARNER:  Vince.

MR. DeROSE:  Sorry, just to follow up on what Jay said.  

It might be helpful if we could pull up the presentation from Harold -- we seem to be on a first name basis -- I don't know his last name, Holloway, from yesterday.  Page 8.  

I'm sorry, I'm not sure -- were you here yesterday?  

MR. DALTON:  I was here, yes.  

MR. DeROSE:  Okay.  So what Mr. Holloway provided us with was a number of bond issuances over 2009.  If you run down, you will see that a number of them are 30-year bonds, and early in 2009 we have them up around 8 percent and 7 percent for Fortis and TransCanada, and as 2009 goes on into the spring and summer, we have the 30-year bonds being issued in the range of kind of 6.5 to 5.5 percent.  

I would be interested to get your opinion on whether these are the type of bonds that would be an appropriate comparator to rely upon and to assess the appropriate premium or spread and to compare it to the ROE.  

MR. DALTON:  I think one point of reference is that in 2008, there was a 247 basis points spread between this same debt rate and the ROE that was produced by the formula.  So that is really what I am talking about here is that from one year, from 2008 value for the 2009 value, how do you get that spread to collapse to that degree at a time when there is all of the significant volatility in the market, which is also affecting utility share prices, as well.  

MR. DeROSE:  Sorry, if I can just follow up a little bit more, Karen, just one more.  

So again just going back to these particular bonds in Mr. Holloway's presentation, is there any reason that you would be concerned that these are not good comparators, or...

I mean as someone -- from my perspective, these seem to be utility-based bonds that are recent, that would be valuable information for the Board to consider when comparing the existing bond rates to the existing ROE.  

Is there any reason why the Board shouldn't rely upon these numbers?  

MR. DALTON:  I think that one thing I would be interested in looking at is what we're talking about, in terms of -- I haven't done a thorough analysis, but I think that some of the maturities on these probably are going to give me some concern.  

I suspect that, you know, what's happened is that the maturities are -- they're probably not of -- I notice that a number of the bonds are three- to four-year maturities.  So we're not talking about, you know, a 20-year or 30-year utility bond.  There are some that are, but I am not in a position to offer an opinion on that.

MR. DeROSE:  Okay.  Are you aware of any particular value that the corporate bond rate that produces the 39 basis point premium -- any type of specific advantage or characteristics that that bond rate would have over these utility-specific bonds that have been issued over the last year, and we could limit it only to those that are 30 years, so the long bonds on this?

Would there be anything that you are aware of that would...

MR. DALTON:  Not at this time.  Frankly, I would like to give it more consideration, but as I sit here right now...

MR. DeROSE:  Thank you.  Sorry, Karen.

MR. GARNER:  Karen, did you want to -- did you have a question?  Then we will go to Jay.

MS. TAYLOR:  You weren't suggesting that we make an index of these particular issues, and then look at them given that they have a variety of terms to maturity, so we're talking about a long term?  You would be talking about a properly-rated utility bond index of a certain rating.  Is that what you are talking about?

MR. DeROSE:  Yes.  I actually wasn't suggesting that we go and create some sort of --

MS. TAYLOR:  Or by an index, same sort of thing?

MR. DeROSE:  Yes.  I was simply trying to understand whether the corporate -- the long-term corporate bond that we have been basing the 39 basis points on, whether there's any characteristics of that particular bond rate that -- as compared to these, because when we run our finger down these and if we include only the 30-year -- only the 30-year bonds, and granted we don't know the terms or conditions or the covenants for the particular bonds, but we wouldn't know that for the index, anyway, I don't think.

They just seem much lower by about 150 basis points.

MR. DALTON:  I think the one thing that needs to be --

MS. TAYLOR:  I was just going to say what the Board uses, just as a factual matter, which is in the 2006 2nd generation IRM policy statement, we're using a BBB, A-rated bond, corporate bond index.  So the question, I think, that you are asking:  Is that the appropriate bond index to use?  

Now, we have been using it since 2006.  So John's statement about the 250 basis points for 2008 - and I think 2007 was larger - would stand in terms of the dramatic change to the 39 points, but the underlying question is:  That the right bond index, if I understand you correctly?

MR. DeROSE:  Yes.  I don't have the answer to that, but maybe put another way is that we have been focussed on whether the ROE being produced by the formula is too low.  An alternative question is:  Is the bond rate that we're using too high?

MS. TAYLOR:  I will turn that back to John.

MR. DALTON:  Is that a question?

MR. PENNY:  I think I was a rhetorical question.

MR. DeROSE:  Perhaps it was rhetorical to try to explain to Karen where I was coming from on that.

MR. GARNER:  I invite anybody in the room to try to answer it, but, John, I think you have something you would like to say, so why don't we start there?

MR. DALTON:  Yes.  One of the other things we need to be careful of is for a formula here, we're talking about numbers that have been all produced as of a certain day based on specific statistics and specific indices.  Here we have a wide range of dates in terms of when these bonds were issued.

So you need to be very careful in terms of saying what number is wrong and what is this indicating.  As I sit here today, I am not in a position to kind of do that analysis.

MR. GARNER:  Anybody else like to jump into the fray?  Karen, and then I will come to you, Jay, sorry.

MS. TAYLOR:  Well, let me just add that the relationship, based on what we heard yesterday and today, if the spread between governments and the corporate or the relevant utility bond was 2 to 300 basis points, the difference in the last two years for that bond index that we have been using in the formula was, in fact, that number.

So I will just put that on the record -- on the record, if that is the right word.

MR. GARNER:  Jay.

MR. SHEPHERD:  Mr. Dalton, you have actually -- one of the models you proposed is to use corporate bonds as an explanatory variable; right?

MR. DALTON:  That's right.

MR. SHEPHERD:  And did you look at whether utility bonds would be better?

MR. DALTON:  I didn't have utility bond value that I ran in the equation.  I just used a corporate bond.

The issue is you have to have a full historic series.

MR. SHEPHERD:  Understood.  What I am trying to understand is, it is true, isn't it, that over the last year, in particular, corporate bonds have been pretty wonky?  The rates on them have gone strange for a little while, as the markets responded to their fears of credit, of credit risk; isn't that right?

MR. DALTON:  Yes, they have.

MR. SHEPHERD:  And there is no evidence currently before the Board that suggests that utility bonds did the same thing, or at least not to the same extent; isn't that right?

MR. DALTON:  I haven't sat here in terms of all of the sessions, so I don't want to offer an opinion in terms of whether anyone has discussed that or not.

MR. SHEPHERD:  I guess what I'm trying to figure out is whether we're focussing on a relationship, this 39 basis points, that is actually a function of a problem, a blip, that corporate bonds had that wasn't experienced by utility bonds.

If that is the case, then the 39 basis points isn't relevant, is it?

MR. DALTON:  I guess this is similar to the question that Mr. Mondrow asked me earlier, and I would -- my answer would be the same, essentially, is that utilities are -- utility equities and equities are more risky than bonds.  So you would expect there to be a premium paid for equities.

MR. SHEPHERD:  But the correct comparison between an equity rate and a bond rate is for the same type of entity; right?  So it would be appropriate to compare the corporate bond rate to the overall market ROE; right?  That would be a proper comparison.

But to take a subset isn't necessarily a fair comparison, is it?

MR. DALTON:  I guess I wouldn't necessarily agree with you in terms of -- one might be better than the other.

I think that -- and I am not sure, in terms of what you are specifically driving at here, but...

MR. SHEPHERD:  What I am asking is whether -- if you are comparing one category of -- or a debt rate to an equity rate, that they should be the debt rate and equity rate of the same type of thing as opposed to the debt rate of one type of entity and the equity rate of another type of entity.  That's correct, isn't it?

MR. DALTON:  That probably would be preferable.  I think that the issue here is, you know, we've got -- for what I have done in terms of my analysis, we've got, you know, long Canada bonds, which is a government rate which is very close to risk free.

We've got corporate bonds, utility bonds, and you are saying, Well, what's the best explanatory variable?  I think you are questioning what is the best explanatory variable there, corporate bonds or utility bonds?  I didn't evaluate utility bonds.  They might, in fact, produce a better model than what I have outlined here.

I think my analysis clearly shows that the two models I have put forward perform better than the existing ERP formula.

MR. GARNER:  I think, Don, did you want to jump into this?  You look like you have something to say.  

Could you turn on your microphone, please?

MR. CARMICHAEL:  Just to address a couple of questions.  Utility bond spreads moved out by 300 basis points as we went through the financial crisis, so there was a direct impact in the bond market the way utility bonds were anticipated.

As to the question of the 37 basis point spread which you were raising, I think the important thing to recognize is, on a particular date -- and I think Karen went to this.  On a particular date, the Board approved an ROE of 8.01 and forecast a long-term debt rate that was to be applied to utility borrowings of 7.82.

They said, essentially, the cost of new debt capital is -- we expect it to be 7.82 over 2009, resulting in the 37 basis point spread between the expected ROE on utility equity and the expected rate of return on a utility bond issued by a utility in Ontario.

MR. SHEPHERD:  So you're saying one of those two numbers is wrong?

MR. CARMICHAEL:  Pardon me? 

MR. SHEPHERD:  One of those two numbers has to be wrong because they're too close together.


MR. CARMICHAEL:  From a capital markets points of view, you know, one the spread is obviously too narrow.  

MR. SHEPHERD:  Thank you. 

MR. GARNER:  Before I go to you, Ian, Karen did you have anything you wanted to follow up?  

MS. TAYLOR:  No.  

MR. MONDROW:  Karen may be able to answer a question I have or someone may be able to or Don maybe able to or John might be able to. 

MR. GARNER:  Why don't you put it out there. 

MR. MONDROW:  I'm going to put it out there.  As I understand the Board's electricity cost of capital guidelines, the bond rate we're talking about that produced this spread was a set of corporate bonds at large versus utility corporate bonds.  

My question was going to be or is going to be whether anyone can tell me whether utility bonds moved less than corporate bonds at large during the financial crisis.  Was the spread between long Canada bonds and utility bonds generally less than the spread between long Canada bonds and corporate bonds at large?  Does anybody know that?  

First of all, am I right that the Board's formula uses corporate bonds at large versus a utility bond sample?  

MS. TAYLOR:  Well, our index looks like looks at corporate bonds that are rated BBB and A.  So they would be corporate bonds.  It doesn't specifically say in the 2006 policy document utility bonds. 

MR. MONDROW:  This is the Scotia Capital Inc. index published by the Bank of Canada, according to the guidelines. 

MS. TAYLOR:  Right.  So the point I was making before, just by putting, factually speaking, on the record, for the previous two years that same bond index versus the allowed return set by the Board was between 250 and 300 basis points in terms of the spread.  

So when Jay was asking, Is it the bonds that went haywire or is the utility ROE went haywire?  I would put the question back to him, he asserted that utility bonds did not increase in yield.  

So if that were the case, I would ask him why did the ROE fall? 

MR. MONDROW:  If I could interrupt. 

MS. TAYLOR:  I would put it back on the other foot. 

MR. MONDROW:  I thought what Jay was asking and in any event I think the simple question in my mind is:  Did utility bonds react differently to the financial crisis than corporate bonds at large?  

MS. TAYLOR:  And I don't know because I wasn't part of the market at that time, but what you have heard from Mr. Carmichael was they did blow out.  Whether it was more or less than what the BBB, A index changed, I don't know.  You would have to ask him.  

MR. MONDROW:  Do you know?  

MR. CARMICHAEL:  I can't tell you.  

MR. GARNER:  Don, can you use your microphone please?

MR. CARMICHAEL:  I haven't looked at that specific index. 

MR. MONDROW:  Because I think the question that Jay was raising was if we're going to use bonds, would utility bonds be better as an indicator of appropriate utility ROE spread between bonds and ROE than corporate bonds at large?  I thought that was the nature of the question.  But it appears we don't know how utility bonds moved relative to corporate bonds. 

MS. TAYLOR:  Let me just back up and I think I agree with the parallel...

Sorry.  I think the principle of utility to utility and term to term makes sense.  The only issue, again, without knowing everything and someone can clarify this for me is whether there is an index for Canada that is sufficiently robust with enough issues at the 30-year range to give us the comprehensive index that we would need, and perhaps that is the why the Board in its 2006 policy document went with the broader BBB to A index.  

So I wasn't here at that time, but it may be that there isn't sufficient data at that long end to give you a comprehensive index.  

MR. SHEPHERD:  Karen, I think that is likely the case, but what my concern is, is that the corporate bond index at the end of last year would have included GM and Chrysler and Magna and a whole bunch of people in the auto industry that would have knocked it right out of relevance.  

MS. TAYLOR:  But they would not have been included in the Board's index because they would not have been rated at that time A or BBB.  So they would have fallen out of the index for the purposes of establishing the number.   

MR. SHEPHERD:  Were they out of that rating by then? 

MR. GARNER:  Don, do you want to jump in again?

MR. CARMICHAEL:  I was just going to support John.  

MR. GARNER:  Can't hear you.  You have to use the microphone.

MR. CARMICHAEL:  I was just going to support Karen that Chrysler, GM were all kind of below investment grade, definitely below investment grade throughout much of 2008 and would have been dropped from that index.  

There is also an issue of, again, whether, in fact GM or Chrysler actually had bonds outstanding in the Canadian market.  

I questioned whether that, in fact, is the case.  

MR. MONDROW:  I guess maybe just to comment, and I realize we have some data deficiency, we don't know exactly.  And it may be there is no readily available index that is probably the case and probably why it wasn't used.  But to the extent that utilities are expected to be more stable investments, I would have thought utility bonds would also be more stable than corporate bonds at large in respect of the spread with long Canada. 

So to me, that is the principle that Jay was talking about.  The answer may just be that the data isn't available.  

MR. GARNER:  Kathy McShane.  

MS. McSHANE:  I don't know why specifically the Board used the index that it did when it started.  

But the index that it used was basically the Scotia index that had been previously available for free.  So it is possible --it's possible that when the TSX took over, that because that index had been used previously, that it was just continued to use the corporate bond index.  But there is, actually, from the same source, an index of A-rated, long-term Canadian bonds for which there are historic data and they go back years and years so that you could, you know, you could look at what the trends in those numbers were over time.  

I actually did look at the relationship between the numbers on the A-rated index and the index that the Board used to set the deemed debt rate.  And, sure, I mean there are some differences, during the time of crisis, the numbers on the -- as you might well expect, on the broader A, BBB index, the yields were somewhat higher.  But there is no, I would say, there is no indication that somehow the broader index acted significantly differently than you would expect during that period of time.  

MR. SHEPHERD:  What we know, Kathy, is that the utilities
that this Board regulates and similar utilities in Canada were issuing debt at 150 basis points less than that index said was the average for the corporate bond.  

We know that because we have the list.  

So there is some differential.  But I guess, I wonder if it is just possible to get a list of what is included in that index.  I mean, the Board is subscribers to the index.  There must be available a list of what companies are in it.  And it wouldn't take, it wouldn't be that difficult to look at it and say, is this a similar risk profile to the utilities we regulate.  I would have thought.  

MR. GARNER:  Okay.  So we are back with John.  Are there any other questions of John before we break?  Fred?  Or you just...sorry.  

Okay.  Then what I am going to suggest is that we start our break early.  We reconvene or maybe we are on time, but we reconvene at 3:00, actually we're a little early, with Kathleen McShane.


MR. WETSON:  Just hold on, Mark, I'm not satisfied with that last discussion at all.  I mean, I'm not dissatisfied with the point that is raised but what I am hearing is that some work needs to be done here.  I am not sure what that work is, but it needs to be done.  The question is:  What do you think would be helpful to ensure that we have the kind of information that the Board can consider, obviously when we look at this issue from the point of view of deciding on this policy?  

So I know you made this suggestion which didn't sound like a bad one to me at all, and given the fact that we are quite frugal but not entirely -- although these days I would have to take another look, but... 

MR. KAISER:  As long as it doesn't involve travel.  

MR. WETSTON:  That is a very good point, Gordon.  

So I would ask this as a request:  What kind of information should we try and obtain in the near future that we could share with everybody that would help you consider this issue when you obviously provide us with your comments on this particular conference?

So what would it be?  Is there anything else that we need to do in the short term that would assist an explanation of what -- that number and why we picked it might be of some assistance, although I think there is an answer to that already.  

Is there something?

MR. SHEPHERD:  Mr. Chairman, I have one suggestion, and that is that the Board has a wealth of data in its internal -- in the information it has on applications, as to what its actual regulated entities have been told by third parties they can borrow at, whether it is banks, whether it is their own bonds, et cetera.  You have a wealth of that information.  

Now, I don't know how difficult it is for you to gather it internally, but that pile of information would tell you pretty clearly at any given point of time what the appropriate debt amount is for your regulated entities, I would have thought. 

MR. WETSTON:  Any other thoughts?  Thanks, Jay.  Karen?

MS. TAYLOR:  I thought maybe it might be helpful if one of the consultants in the room could prepare for us the A-rated utility bond index and give us some historical numbers, and, in particular, how it behaved during the crisis versus the BBB to A index, and whether the change in spread that we saw was unique to the BBB/A or whether it was also -- and that might help us in the immediate short term.

MR. GARNER:  Okay.

MR. COCHRANE:  Karen, just to follow up on that, there was evidence presented recently before the Régie in Quebec that charted actually those spreads, and they're actually versus the Canadian 10-year bonds.  So it is not exactly the long Canada bond, but it is something close.

It has -- it has charted them from 2002 to just a couple of months ago, July 2009.

If I look, for example, at the period of January 2009, which was when the 7.62 was set by the OEB as the long-term deemed rate -- and, forgive me, because I am just going to approximate these numbers by looking at a graph on my screen.  The spread for the A-rated utilities was about 275 basis points, and the spread for the BBB was about 385 basis points.

So those are purely Canadian utility bond yields.

So -- but if you look -- there are both A-rated utilities and there are BBB-rated utilities.  So when you come to an average, do you get to a markedly different number than looking at the all corporates at that point and what the spread was versus the long Canada?  

It sounds like it is in the same ballpark.  It is over 300 basis points on average.

MS. TAYLOR:  So you would have to adjust the 10-year for term, correct?  

MR. COCHRANE:  Correct, yes.

MS. TAYLOR:  So then the -- 

MR. COCHRANE:  It is not exactly apples to apples.

MS. TAYLOR:  Right.  

MR. COCHRANE:  But obviously the information is there.  If you know the spread to the 10-year, you can back into the spread for, I guess, the 30-year.  So the information was there available for one of the parties presenting to the Quebec Régie.

MS. TAYLOR:  Okay.  

MR. COCHRANE:  Sorry, just for the transcript, the names is James Cochrane, C-O-C-H-R-A-N-E, representing the Power Workers' Union.

MR. GARNER:  Thanks, James.  Mr. Chair?

MR. WETSTON:  No, that's okay.  That is helpful.

Anybody else?  Let's not make too many requests.

MR. GARNER:  Julie in the back.

MR. WETSTON:  We do have some time lines here.

MR. GARNER:  Julie, there is a microphone.  

MR. WETSTON:  Before you say anything, Julie...

[Laughter]

MR. WETSTON:  Let me assure you that I am not wanting to open up this proceeding and chase down a pile of information in other matters, which would really be not within the scope of what we're trying to achieve here.  I am just saying that.  

What I am trying to do here now - and I want to hear from you, obviously - is we want to see whether or not this discussion that we have just had, that we could assist in trying to at least address this issue, to assist in your opportunities to be able to comment on this conference.  That is my objective here.  

I am just saying that, appreciating the comments we have heard and obviously we will consider and get back to you.  Julie?

MS. GIRVAN:  Julie Girvan, Consumers Council of Canada.  Just a quick clarification.  I hear the word "utility" used the last couple of days intermingled, in the sense that we talk about utility holding companies like Enbridge Inc., and then we talk about Enbridge Gas Distribution.

So on this particular issue, when we talk about a utility index, is it utility indexes for the holding companies or is it some sort of assessment of the debt rates for pure utilities?  I think that is an important clarification.

MR. WETSTON:  Good question, okay.  Thanks.

MR. GARNER:  Jim?

MR. COYNE:  Just a point of clarification.

I believe that the bond rates, as I looked at it, the ones that you initially referred to, Mr. Shepherd, as reported by -- I think it was Mr. Holloway -- yes, that's good.  It shows the coupon rate in chart.  I don't think, as a result of that, those reflect yields.  And it is typical yields that are used in these comparisons.

Over this period of time, almost everything sold for less than par value, significantly increasing the yields on just about every bond issuance over the last 18 months.  In some cases, there was a significant difference.  Some sold for 80 cents on the dollar.  You can imagine that would have a significant impact on yield.  

So I wouldn't read too much into that data until they were really adjusted to reflect yields and not just the simple coupon rate on them.  So a note of caution on taking too much of that specific data set.

Another issue, just because of all of this discussion around bond indices, is that when we looked at the various bonds indices, that's why we chose the Canadian A-rated Utility Bond Index for the formula that we have suggested, is to try to get as close as we can to what is really going on in the capital markets for Canadian utilities, as reflected in that specific index.

In a chart that we have, which was on page 14 of our presentation, it showed that that comparison versus the Moody's corporate A bond showed that actually there was more volatility in the Canadian A-rated utility bonds than there was in the corporate A-rated bond issuance over that period of time, reflecting there was more volatility for utility bonds than there were for the corporate world, in general.

So I leave that with you.

MR. WETSTON:  Okay.

MR. GARNER:  Mr. Chair?  So what I would suggest is that we take a break now until, I'm going to say, five after 3:00, and I would leave with this comment, is that that was a very useful exchange and we would hope we would have more of that.  

With that thought in mind, also, it looks like we will be finished with the formal presentations by the end of Thursday.

I would like you to give some thought to Friday and how that time might be used or whether in fact you would like to use that time, and what kind of dialogue we could have.  With that, if we could meet back at five after 3:00 and we will meet back with Ms. McShane's presentation.


--- Recess taken at 2:51 p.m.


--- On resuming at 3:15 p.m. 


MR. GARNER:  So we are going to reconvene, if we can, and before we do, there is just a couple of housekeeping notes, again, as we went through this afternoon's discussion.

One was the question that came up about the composition of the index that the Board uses, and we are going to look into whether we can provide, provide insight into that composition.  We have to check obviously with our service provider and we are going to try to do that.

The other thing is, as we go forward, we are going to invite all of the consultants and Ms. McShane who is with us here, to provide us information in respect to the composition of the indexes that they are speaking to so that we can try and get that information also on the table.

So I would look to our panel at Concentric to help us there, and Kathy to help us with that.

The other thing that was raised, Jay, you raised this about gathering up information from regulatory filings.

I have to say as -- with a fair amount of experience as to what's in those filings, what it would take us to do that, we don't think that is possible for us to do, certainly not in the time frame that we would be would be talking were in this case.  It is an interesting point but I don't think one that we could address right at the moment.

Finally, the Vice Chair, Gordon Kaiser had asked about a California decision.  We talked about it with, I believe, Concentric, the people from Concentric, Jim, yourself.  You said that you could give us this decision.  Maybe if we could just describe the decision that was being talked about to the group that you might be able to provide the group.

MR. COYNE:  Yes.  We actually summarized it in our evidence on page -- I want to say it was 54, but I could find that briefly.  But recalling in our discussion we were asked if we were aware of any formulas that had been adopted in the US and we cited California recent adoption of a formula for ROE and their use of the DCF and CAPM methods to rebase ROE and then use a formula with a 50 percent coefficient tied to corporate bond yields.  We will confirm that is the case.

It is summarized in our decision and the Commissioner asked if we would send a copy which we would be glad to do and we would distribute that in any way you deem best.

MR. GARNER:  Thank you.  Okay, then with that what we will do is we will start the afternoon and Kathy McShane is with us, representing the EDA, I believe, and is there anybody going to introduce you, Kathy or are you going to do that yourself?  You are on the air.  You don't have to touch anything.
Presentation by Kathleen McShane, Foster Associates:


MS. McSHANE:  Good afternoon, I am Kathy McShane from Foster Associates.  I am here on behalf of the Electricity Distributors Association.

They asked me to assist them with responding to the Board's 19 questions and I have done so.  What I would like to do this afternoon is basically just to share with you the highlights of the responses that I provided on their behalf.

Much of what I have to say I think you have probably heard before, not just from me, but from other parties who have appeared here in the last day or so.

So I thought I would just start out with looking at a couple of high-level principles that I think are very important that the Board needs to respect, and these are principles that sort of have come up in the context of the questions that they asked.

The first, the point that I wanted to make was that it is very important that the Board make explicit recognition of the relationship between the ROE and the capital structure.  And in this context, the Board specifically asked the question:  Is the 40 percent common equity ratio that has deemed for the electricity distributors appropriate?

The very short answer to that is, of course, it depends.  And it depends on whether the ROE that is associated with the 40 percent equity ratio appropriately captures the combined level of business and financial risk.

It depends whether the combination of the ROE and the capital structure provide a comparable return, and it depends whether the combination of the ROE and capital structure provide the basis for credit metrics that will allow the utility to attract capital on a stand-alone basis on reasonable terms and conditions.

How do we accomplish this?  Well, the first thing we need to do is we need to look at comparable companies.  We need to perform the cost of equity test for these comparable companies.  We need to look at the 40 percent equity in the context of industry practice.  Do other utilities maintain common equity ratios in this range?  And then we also need to look at whether, when we look at the deemed 40 percent common equity ratio and the cost of equity test results in the comparable companies, do we need to make any adjustment to that cost of equity to take account of differences in financial risk between the comparable companies and the LDCs in Ontario.

So we also have to look at whether or not, when we have the resulting ROE and the common equity ratio of 40 percent, do we have reasonable credit metrics.  And a couple of those that we could look at would be EBIT coverage which Concentric has talked about before.

Another one that is -- would be relatively simple to look at on sort of a generic basis would be funds from operations coverage and we should be looking for a ratios, target ratios for EBIT coverage of two and a half times, which I would say is a minimum, and three-and-a-half times for FFO coverage.

These all basically arise out of looking at guidelines that are provided by the debt rating agencies as well as by looking at what comparable companies maintain.

Important though to remember, and again this is a point that was made earlier today, that these coverages relate to what's required for debt investors.

The fact that you've got coverages that are consistent with these targets are not, in and of themselves, a sufficient test of the fair return or the comparable return.  They may be a good estimate of whether or a good means of determining whether a utility is able to attract debt capital, but they are not sufficient for determining what a fair return is.

The second point I wanted to focus on just momentarily was the concept of the stand-alone principle.  The stand-alone principle came up in the questions in the context of the cost of debt and whether -- not the cost of debt but the source of debt, and whether or not the utilities should be treated any differently for purposes of cost of capital parameters, depending on where they source their debt, whether it was from the capital markets, whether it was from banks, or whether it was from Infrastructure Ontario.

The answer to that is:  No, that the source of the financing should make no difference in the principles that are applied for purposes of determining the ROE and capital structure.

The stand-alone principle should govern, as it has governed in past cases before this Board.  The application of the stand-alone principle, in determining ROE and capital structure promotes sufficient allocation of resources, not only from the point of view of establishing proper pricing signals for customers, so that appropriate amounts of energy are consumed, but also promotes the proper level of investment in the energy sector, and it ensures that there is a level playing field for different forms of energy in the province.

Now, having said that, when we focus specifically on the cost of debt, then what we need to be concerned about still is that ratepayers pay the market cost of debt, and that is not inconsistent with the stand-alone principle.

In terms of where I think the Board needs to go with respect to the ROE and the formula, I agree with Concentric and with Mr. Carmichael and with Mr. Dalton that the Board does need to recalibrate the initial ROE and to revise the adjustment formula.

In my view, in the analysis that I've done, with hindsight, after 15 years' experience with this formula, the formula, as it's been constructed, has not captured the secular trends in the cost of equity for utilities, and it doesn't pick up cyclical elements of changes in the cost of equity, and it doesn't pick up specific market events that impact on the cost of equity.  

Mostly it is because it has been tied to a single variable, the government bonds, as we've discussed earlier.  In addition to that, the sensitivity factor of the coefficient on government bonds have been, with hindsight, too high, with the result that the ROEs that are currently produced by the formula are too low and, as the recent financial crisis has indicated, have in  certain circumstances gone awry in the wrong direction.

So I am going to move on to the second slide, thank you.  I indicated that I was technologically challenged and I was afraid I would end up going backwards through all of the slides, so I asked if someone would move them for me.

What should the Board do?  In my view, the fair return is a critical issue.  Obviously, I don't think anybody would disagree with that.  It is not a simple issue.

My view, this consultative process is an important step in terms of establishing policies or ground rules for determining the cost of capital, but -- I guess maybe I'm a little old school in this regard, but I do think that if the ROE is to be ultimately recalibrated and a formula to be revised, then it needs to be the result of a comprehensive review.  

I mean, these are not things that lend themselves to an hour of questions.  I mean, they are concepts that really need to be delved into and tested in detail.

In conducting a comprehensive review, I am of the same mind as -- I know Mr. Carmichael mentioned this yesterday, and I believe Concentric mentioned this, as well, that it is important to rely on multiple tests, that no single test does provide the answer - the answer.

All of the tests have different perspectives.  They provide a different perspective on investor return requirements and investor return expectations.

In addition to the formal tests that the Board can look at, it can use other benchmarks to assess whether the results of the various cost of equity tests are reasonable.  They can look at the returns that have been allowed for utilities of comparable risk who are not governed by formulas.  

They can look at what is happening to returns on equity that are negotiated by companies of reasonably comparable risk outside of the formula, with particular emphasis on those where you don't have the formula ROE as effectively a default position.  

And ultimately - and I don't think I can stress this enough - we just can't underestimate the importance of the application of informed judgment.

I know that the Board has indicated its preference for an equity risk premium test, and I understand that the Board, obviously, with good reason, is looking for something that is consistent with regulatory efficiency and obviously wants to have an environment where multiple applications for rate of return are avoided.

So the question is:  Can the Board simultaneously set an initial ROE using multiple tests and still be able to implement a formula in such a fashion that it achieves the degree of regulatory efficiency that it is looking for?  And the answer I believe to this is yes, that you can establish the ROE using multiple tests, and you simultaneously specify whatever the initial values are of the variables that you want to use to do your subsequent adjustments to the ROE.  And you can express your initial ROE, if you will, in terms of a risk premium.

It could be a risk premium over long-term government bonds with a related utility bond spread or a corporate bond spread.  It could be an initial premium over a corporate bond yield.

So it is not necessary to limit yourself to a single test to set the initial ROE, and still -- it's not necessary to limit yourself to the one test if you want to continue to use the formula.

So moving on to what I looked at in terms of modifying the automatic adjustment formula, I am not here to provide at this point any specific results for cost of equity tests.  I haven't selected comparable samples.

What I have done is looked at how the automatic adjustment formula might be modified, what the implications are in terms of what the returns would have looked like historically had we had a formula in place, and how does this revised formula -- how does it jive with the empirical data?

So I would start out by saying that one of the large - a large part of the reason that the ROEs are lower than they should be today is because the formulas have overstated the sensitivity of the cost of equity to long-term Canada bond yields.

I looked at this in two different ways to determine what the historic sensitivity has been.  I did it in, I guess, a similar way to what Concentric has done, where I looked at the returns that have been allowed for US -- by US regulators on a quarterly basis, in relation to the bond yields that were prevailing actually prior to the decisions being rendered.

I looked at it both in terms of government bond yields and in terms of utility, A-rated utility bond yields.  And in both cases, there is a sensitivity of 45 to 55 percent, as opposed to the 0.75 sensitivity factor that the current formula uses.  

I also did a similar analysis not using the allowed returns, but taking a sample of pure play, low risk utilities, creating DCF, discounted cash flow costs by month for those companies, comparing the corresponding government bond yield, utility yield spread, and determined, one, that that the relationship between the government bond yield and the cost of equity when the utility bond yield spread is also considered is approximately 0.5.  Also, that there is a positive relationship between the spread on utility bonds and the utility cost of equity.  

So what I would suggest that the Board consider doing is recalibrating the initial ROE and incorporating these relationships into a revised formula.  The proposal would be that you would use 50 percent or 0.5 coefficients on both -- what I would do is I would have two separate variables.  

The first variable would be the forecast long-term Canada bond yield.  So that would basically be the same variable that's included in the current formula.  The difference would be that the sensitivity factor would be 0.5 instead of 0.75.  

To that, I would add the utility or since we don't have a specific utility bond yield index in Canada, we would use as a surrogate a long term A-rated bond yield index and the ROE would be changed by 0.5 percent of the change in the yield spread, as well.  

I would point out, also, that it is important that there be internal consistency between the revised formula or any revised formula and any revised initial ROE, which is to say that if you -- if you revise the ROE so that implicitly you accept the proposition that the relationships have been what the data suggest, then you can apply those sensitivity factors.  

If, on the other hand, you say:  Okay, well we'll revise the ROE and let's say instead of 8.57 at - I've forgotten what the associated bond yield was - but let's say that basically what you do is you increase the ROE by 25 basis points which effectively is consistent still with assuming that the relationship is close between ROE and long-term government bond yields is close to 0.75.  

So it would not be reasonable, in my view, to adopt a formula that assumes a relationship that doesn't carry through to the initial ROE.  

I guess the other thing I would say about the re-establishment of the ROE in the formulas is that if the Board were to carry through with a comprehensive review, it is possible that that would not occur in time for setting May 2010 rates for the LDCs, in which case the Board still might want to consider an interim solution.  

And, in that case, I would suggest that perhaps we could maintain the same sensitivity factor that is in the rates, in the formula at this time, but replace it with a corporate bond yield, at least as a solution until such time as a comprehensive review can be completed.  

I did want to -- and this is the four-page "Implications of the proposed formula" -- I don't propose to go through this page in any detail, but I thought it was interesting and would give an overview of what the ROEs would have looked like historically.  

I used the NEB as the comparator to the revised formula results, and basically for two reasons.  

One, because the NEB really set the formula, before we started seeing the extent of the downward movement in the long Canada bond yields that found their way into the other formulas throughout the country.  And the other reason is because the NEB consistently releases an ROE number every year.  So you can -- you've got a nice consistent series to do a comparison with.  

You can see that the revised formula would have produced a ROE, over time, that was a little over a percentage point higher than the average of the actual formula ROE.  

The resulting ROEs were more stable than the ROEs that were actually produced by the formula, not that that is necessarily, you know, a key consideration.  It is a consideration.  

Also, they are well in line with what the allowed ROEs of US utilities were over the same period.  

Just for information purposes.  I know if you look at this you've got a number for 2009 which, the number for 2009 is the one that reflects the big bump in the yield spread, and if you were to apply that same formula today, would you still be looking at an ROE for 2010 of about ten and a quarter percent.  

I just would finish up with saying that, you know, I think it is important to have a number of safeguards in place to ensure that the fair return standard continues to be met.  

I think if you considered a trigger mechanism where the -- if the ROE were outside 200 basis points on either side of where you started, that this would be an indication that you might want to look at the ROE again.  

It doesn't necessarily mean you have to have a proceeding.  It just means that it is a trigger to canvass stakeholders, to see if they, as -- I don't know, sort of on a consensus basis, think that there is a necessity for a comprehensive review.  I think the Board might want to look at the concept of a dead band.  And the way I interpreted the dead band was if the ROE as, if you initialize it, or if the formula produces a number that is above a certain level or below a certain level from the ROE that is embedded in rates, then you may want to consider making an adjustment to the ROE embedded in rates to ensure that the fair return standard continues to be maintained.

Considering a dead band would ensure that different companies are not advantaged and disadvantaged simply by the timing of their applications, and it may be a way to deal with any concern that the Board might have that the timing of a particular ROE determination created a number that may change materially due to capital market changes.

And the third thing I would suggest is that the Board consider, every five years, that it canvass stakeholders to determine whether a review is required.  Again, I am not saying that a review needs to be held every five years, but if the Board canvassed stakeholder and asked them what is going on in terms of capital markets, that would provide a safeguard to ensure that the fair return standard continues to be met.

I am very happy to answer any questions you might have.

MS. BRICKENDEN:  Thank you, Kathleen.  Are there any questions?  Ian.
Q&A Session:

MR. MONDROW:  Thanks, Lisa.  Kathy, forgive me, you may have mentioned this in your comments.  Indeed, it may be described in your paper, which I haven't had a chance to read in detail, but I was curious why, in your -- in the formula you proposed that we think about, you have retained the Government of Canada bond yield benchmark at all.

I mean, why not just go to a corporate bond?

MS. McSHANE:  Well, for two reasons.  One, because it maintains the forecast part of it, and, two, because there is -- it's a transparency thing more than anything else.  I mean, it keeps -- just to keep the two parts separate, so you can see what part is causing the ROE to move in either direction.

You could put them together.  You could -- you would have the same answer.

MR. MONDROW:  I'm sorry, I misspoke myself, perhaps.  I am asking why you have that as an input, at all, whether or not you combine it into one factor.  I mean, why is the Government of Canada bond yield -- why does it remain important once you add the corporate bond yield?  Why do you need both corporate and government?

MS. McSHANE:  Well, what the formula has is the Government of Canada bond yield in the spread.

So the yield -- the Government of Canada bond yield plus the spread would be the corporate bond yield.  What I have tried to do by keeping them separate is the Government of Canada bond yield, by itself, is a forecast.  It uses the consensus forecast just the way the current approach does.

MR. MONDROW:  Yes.

MS. McSHANE:  The spread is basically an observed spread, and you look at the change in the observed spread.

So it is maintaining the forecast part of the yield -- 

MR. MONDROW:  Right.

MS. McSHANE:  -- with the spread part, rather than mushing them together into just a corporate yield.

MR. MONDROW:  Or a change in corporate yield.

MS. McSHANE:  Sorry, or a change in corporate yield.

MR. MONDROW:  I understand.  I wanted to ask you one more question.

I think you said that you have suggested that the Board and the rest of us think about a corporate bond yield spread, as opposed to a utility corporate bond yield spread, because we don't have an index of the latter.  Did I hear that right?

MS. McSHANE:  Yes.  But let's be -- let's be sure that we are clear that -- first of all, and maybe everybody knows this and I am just being too precise.

MR. MONDROW:  You can bet I don't.

MS. McSHANE:  But a utility bond is a corporate bond.  So when you look at a corporate bond index, there are utility bonds in there.  So chances are, if you are looking at a Canadian corporate -- long-term corporate bond yield index, you are looking at utilities, the banks, and some companies like Thompson -- I am trying to think who else might be up there in the -- but, you know, high-grade, non-regulated companies.

So if you decided you would use as the index an A-rated corporate bond index, then you shouldn't expect significant differences between what you would see, the yields, on that index and if you happen to have a utility only index.  They would be quite similar.

MR. MONDROW:  I am just trying to get at -- I appreciate that.  I am trying to get at something that is perhaps a bit simpler, and maybe Mr. Coyne can help, because I understood Concentric's recommended approach to have a Canadian A-rated utility bond parameter.  And I assumed that that was an index of some sort, but maybe that is where I am going astray, because I thought you said we don't have one and they're relying on one, and I just want to understand whether we have one or not.

MS. McSHANE:  I will answer that, and Jim can correct me if I am wrong.

My understanding is that when I said "we don't have one", Bloomberg provides a Utility Bond Yield Index.  A subscription to Bloomberg is a fairly expensive proposition.

I don't believe -- and, Jim, correct me if I am wrong.  I don't believe you could get the Bloomberg Utility Bond Index unless you had a subscription to Bloomberg services.  I don't think they will provide you with just that index.

MR. MONDROW:  We are together.  You are on.

MR. COYNE:  I think that is correct, Kathy.  I'm not entirely sure, but they are protective of their proprietary indices and we have access to it because we do have a subscription.

We assumed in our index construction both the RRA, as well as the Bloomberg portions of our index, would require a subscription on behalf of the Board or others that would be providing it to the Board in order to -- and of the parties, in order to have access to that information.  So that is correct.

MS. McSHANE:  And I don't know how much it costs.  I know it costs too much for us to -- for us to subscribe to it.  But the...

MR. COYNE:  I don't want to go too far down this path, because I am sure that is not the intent of your question.  But they all have provisions for their services being provided before regulatory bodies.  So I think should the Board go this route, it would be worthwhile enquiring as to whether or not some utilities that are present here may have such provision.

It could very well be they provide that number, and then parties to each proceeding would have access to it.  So it is not necessarily the case that the Board would have to subscribe to have access to it.

MS. McSHANE:  Okay, that's fair enough.

MR. MONDROW:  Kathy, if the Board could have access to the index you're talking about, which is a Canadian...

MS. BRICKENDEN:  You just accidentally turned Ian off.

MR. MONDROW:  Oh, maybe it was an accident.

[Laughter]

MR. COYNE:  Peace.

MR. MONDROW:  Just joking, for the record.  Would that be a better index, cost aside, do you think?

MS. McSHANE:  I don't know that it would make a hill of beans of difference, whether -- I don't know that you would get any incremental benefit out of using a utility index that might cost you -- you know, I don't know how much it would cost you.  I just don't think there is probably any incremental benefit between that and using an A-rated long-term index.

MR. MONDROW:  Okay, thanks.

MS. BRICKENDEN:  Are there any further questions?  I would like to remind -- I am sorry, I have been remiss.  If anyone is listening remotely, and we do have a few people who have been monitoring this consultation, they are welcome to send any questions they have to our EDR e-mail box.  That would be at edr@oeb.gov.on.ca.  Thank you, Alex, for reminding me.

MR. JANIGAN:  Michael Janigan for the Vulnerable Energy Consumers Coalition.  I just have a few questions. 

You were present when I discussed with the Concentric panel the abandonment of the Ontario data between 1985 and '97 in order to establish that the appropriate coefficient should be 0.50 rather than 0.75.  

MS. McSHANE:  Yes, I was.  

MR. JANIGAN:  Can you suggest why the Ontario data to '85 to '97 -- which I guess was what, in fact, generated the 0.75 coefficient that we now see in the -- or adjustment factor that we now see in the formula -- why we should completely disregard that at this point in time?  

MS. McSHANE:  Well, first of all, I would take issue with your conclusion.  

I would like to point you to -- I don't know where the 0.75 coefficient came from specifically in the OEB's formula, but I was involved in the NEB hearing in 1994 when the coefficient was originally set at 0.75.  

And at the time, Dr. Sherwin and myself - you probably remember Dr. Sherwin - had done some analysis using Canadian utilities.  We had more of those at the time and we could do DCF-based studies so that we could do this kind of relationship-type analysis that you have seen in some of these presentations.  And I had done one of those and I had shown that the relationship was 0.5.  

So we had evidence that the relationship was 0.5.  We had other people in the same proceeding who mostly, people who were focussed on the capital asset pricing model who said the relationship was one to one.  And if I had to guess, I would say that what the National Energy Board did was average those two numbers and come up with 0.75.  

So I don't really think that the relationship -- 

MR. WETSTON:  Perfect. 

MS. McSHANE:  -- that the OEB used when it established its formula back in 1997 necessarily had anything to do with what the relationship historically had been between the allowed returns and the bond yields. 

MR. JANIGAN:  By the looks of the table, the relationship at least between the years 1985 and 1997, the relationship had been, actually it was about 0.86 rather than 0.75.  

MS. McSHANE:  It could have been, but I mean that's -- as I said, I looked at the actual market relationship and it wasn't.  It was 0.5.  

MR. JANIGAN:  Okay.  But in terms of when applications were made before the Board and when cost of capital was determined, the allowed returns captured 0.86 of the variation in the long Canada bond rate.  

MS. McSHANE:  That's possible.  I mean, I didn't do that analysis amount.  I will take your word for it that that's what it was.  

MR. JANIGAN:  And I would think -- and I would surmise -- that particularly given that period, that it is likely that this period featured more upward changes to the long Canada bond rate than the period following 1997.  

MS. McSHANE:  Probably true.  I am trying to think in terms of -- yes, that's probably true.  

MR. JANIGAN:  And you can probably guess the point I'm making.  When it was on the way up, ratepayers were hit with, you know 0.86 of the change, and long Canada bonds.  

Now that it has been reduced, we want to change it to 0.50 in accordance with values in US utilities.  

MS. McSHANE:  No.  I think what -- what's happening is the utilities want the relationship to be what the relationship is supposed to be.  

I mean whatever it happened to be between '85 and '97 is sort of irrelevant.  I mean what we're dealing with is what is fair now.  

MR. JANIGAN:  That's not a winning argument with my children.  

MS. McSHANE:  I mean, you know, it hardly makes sense to go back to you know 1985 and say well, you know, this is what the Board did back then --

MR. JANIGAN:  I wonder, Ms. McShane -- 

MS. McSHANE: -- let's continue that relationship even though it doesn't have any bearing on cost of capital relationships today.  

MR. JANIGAN:  When you were presenting testimony with Dr. Sherwin back in the '80s and there was -- there were increases in the long-term bond rate or the -- whatever factor was used to measure inflation, are you saying that you proposed a recapture of that in the cost of capital rate at a 50 percent coefficient?  

MS. McSHANE:  Okay.  But the whole situation was different in 1985.  First, I was much, much younger.  And we didn't have a formula.  We had -- we had rate cases where we would come in and we would do a comparable earnings test.  We would do a risk premium test.  We would do a capital asset pricing model.  We would do a discounted cash flow test.  I mean nobody was sitting there thinking in terms of:  Do I, you know, do I take this ROE up by 75 percent or 100 percent of the change in long-term Canada bond yields?  We said:  Here's what the various tests show.  Here is what the fair return is.  

MR. JANIGAN:  I wonder if you could speak briefly or I will question briefly -- you can speak briefly or at length -- on the issue of use of the corporate bond yield and, in particular, I wonder if you could address Dr. Booth's concerns in relation to the use of a corporate bond yield that, in effect, he indicates that he believes that those bond yields or those credit spreads are much more volatile and in fact can reflect serious liquidity problems during a recession that are not necessarily present in the equity market.  

MS. McSHANE:  Well, first of all, I would say that I don't think it is correct that if you looked at using -- like if you said, let's compare what would have happened if I had used the forecast long-term Canada bond yield in the context of the period the NEB had the formula -- has had the formula in effect compared to what the comparative corporate bond yield would have been.  I mean, is that fair that we could say, you know, let's look at the volatility of the indicated long-term Canada bond yields?  What if we had had this other formula?  We used the corporate bond yield.  Is the corporate bond yield over that same period more variable?  The answer to that is:  No.  I mean, yes there was this one time where we had this real spike in yields, but if you -- even including that period, if you looked at the standard deviation of the indicated corporate bond yields that would have underpinned the formula, and the long-term Canada bond yield forecast, the long-term Canada bond yield forecasts were more variable.

MR. JANIGAN:  I wonder -- you were present yesterday when Dr. Vander Weide was discussing the issue of the differences between the market for debt and the market for equity.  And, in particular, he said that there was no relationship that he could find between the credit ratings of a company and the return on equity.

I found that somewhat puzzling, given the rest of the information we've been provided with at this proceeding.  Can you shed some light on this particular phenomenon?

MS. McSHANE:  Well, I mean, I don't know how he did his analysis.  I had done some analysis myself, which I had presented in the recent case in Alberta, the generic cost of capital case, and I had actually done a study of, you know, whether the cost of equity was higher for BBB utilities than A-rated utilities, because the idea was that it is preferable to be an A-rated utility because your cost of capital is lower.

So I -- you know, I would think that the cost -- based on my own analysis, the cost of capital is lower for A-rated utilities than BBB utilities.

MR. JANIGAN:  Okay.

MS. BRICKENDEN:  Do you have any further questions, Michael?

MR. JANIGAN:  I don't think so.

MS. BRICKENDEN:  Jay?

MR. SHEPHERD:  So that on your first slide you talk about the fact that the formula ROEs are too low, and you have been saying that for a number of years; right?

MS. McSHANE:  I've been saying what for a number of years?

MR. SHEPHERD:  You have been saying that the formula ROEs at the OEB have been wrong for a number of years.

MS. McSHANE:  I have been saying that the formula ROEs are too low.

MR. SHEPHERD:  I am looking at your chart on I think it is the fourth page, which is your chart of ROEs.

MS. McSHANE:  Yes.  My chart that is the implications chart?

MR. SHEPHERD:  Implications of proposed formula.

MS. McSHANE:  Yes.

MR. SHEPHERD:  So in 2003 you argued that the Board's rate, which was around 9.79, was too low.  The Board disagreed, in the gas return on equity case.  

MS. McSHANE:  Apparently they did.

MR. SHEPHERD:  In 2006, there was another debate about it, and, again, you argued that it was about 200 basis points higher, and again the Board said, No, you're wrong?

MS. McSHANE:  I guess they did.

MR. SHEPHERD:  Okay.  But you haven't changed your view.  It is still wrong; right?

MS. McSHANE:  Well, I mean, I don't think I would be here otherwise if I didn't continue to believe that the formulas were producing numbers that are too low.  And I think, you know, if you have been in the room for the last couple of days, I feel in a sense somewhat vindicated, because there are a number of other analysts who are before us, well-recognized analysts, who are saying very much the same thing.

MR. SHEPHERD:  And I am not actually trying to hammer you.

MS. McSHANE:  Good.

MR. SHEPHERD:  All I'm asking is -- 

[Laughter]

MR. SHEPHERD:  I am asking actually a question with a purpose, and that is:  The Board has a different problem if it had the right formula and it had the right starting point, and the unusual market over the last couple of years or the last year and a half, let's say, caused it not to work properly, as opposed to it's been wrong all along.  It has been wrong in a bad market; it was wrong in a good market, too.  Right?  Different problem.

MS. McSHANE:  If that is what they believed the sum of the problem is, then that is a different problem.

MR. SHEPHERD:  Okay.  Your change in corporate yield spread on that same chart, that's Canadian all corporates; right?

MS. McSHANE:  On this chart, we're still talking about the chart on implications --

MR. SHEPHERD:  Same one, implications of proposed formula.

MS. McSHANE:  No, it is not all corporate.

MR. SHEPHERD:  It is only utilities?

MS. McSHANE:  No, it is A-rated corporates.

MR. SHEPHERD:  My point is it is not limited to utilities.

MS. McSHANE:  Correct.

MR. SHEPHERD:  But it is Canadian?

MS. McSHANE:  It is Canadian and it is A-rated and it is long term and it is corporates.

MR. SHEPHERD:  All right.  My last question is you said -- right at the end of your presentation, you said -- if I understand correctly, you said that the Board should consider an interim change to ROE for May 1st, 2010, because it doesn't have time to do a comprehensive review between now and then, in which you would replace the long Canada base with a corporate bond yield base; is that right?

MS. McSHANE:  Right.

MR. SHEPHERD:  That would get you about another, what, 200 basis points in ROE, something like that?

MS. McSHANE:  Today?

MR. SHEPHERD:  Yes, today.

MS. McSHANE:  No.

MR. SHEPHERD:  What would be the --

MS. McSHANE:  Well, let's see.  Sorry, let's back up.

In relation to what?

MR. SHEPHERD:  The formula today kicks out a number 8.38 or something like that.

What would the formula, if adjusted the way you are proposing for May 1st, 2010, result in today?  Do you know?

MS. McSHANE:  Well, no, not exactly.  But it would be somewhere between -- what did you say the number would be based on the current formula?

MR. SHEPHERD:  8.38.

MS. McSHANE:  Somewhere between 8.38 and 9.35, but I don't know precisely.

MR. SHEPHERD:  It would be another 100 basis points?

MS. McSHANE:  I don't think -- well, if you assume that you would still use the 935 as the point of departure -- 

MR. SHEPHERD:  The 1997 number?

MS. McSHANE:  No, no, no, no, no.  Not 1997.  '97 was when the draft guidelines were applied to -- I think Enbridge Gas was the first one.  But the 9.35 came out of the 2000, '99 decision.

MS. BRICKENDEN:  Hydro One.

MS. McSHANE:  Hydro One decision.  

MR. RITCHIE:  The 9.35 came out of the Ontario Hydro distribution and transmission case RP-1998-0001.

MR. SHEPHERD:  Right.  I know the one, okay.

MS. McSHANE:  That is the point of departure that was referenced in the Board's December 2006 cost of capital report.

So everything is still -- under the current cost of capital policy, the ROE is based off, you know, that initial 9.35 and the 5.5 percent forecast long-term Canada bond.  So you could go back and you could say what was the corporate bond yield at the time of the decision that gave rise to the 9.35, and you could do the change in the corporate bond yield from that point using the 75 basis point sensitivity factor.  

And, as I said, I am not -- my recollection was that the corporate bond yield at the time was, like, 6.10, and it is probably, you know, in the high 5s, 7s to 6 now.  So it would be somewhere between the 8.38 and the 9.35 and closer to 9; probably closer to 9.35.

There hasn't been a significant change in the corporate bond yields since that time.

MR. SHEPHERD:  So am I misunderstanding this implications of proposed formula, where you've -- this seems to say that corporate bond yields have increased by 1.60, 160 basis points, since 1999.  Am I reading that wrong?

MS. McSHANE:  Sorry.  Tell me where what you are looking at.

MR. SHEPHERD:  You have a column "change in corporate yield spread from 1995", so it is 0.27 in 1999.  It's 1.87 or 187 basis points in 2009.

MS. McSHANE:  So that is the change.  That's the change from the -- but understand something, that this is all based off the NEB data.

This was just something done for illustrative purposes to show, if you had done this from the beginning back when the formulas were originally introduced, this is what the numbers would look like today.

MR. SHEPHERD:  Well, the corporate yield isn't from the NEB formula, right, because the NEB formula doesn't have the corporate yield in it?  That is your number.

MS. McSHANE:  Right, right, right.  I still think we're talking at cross-purposes.

If you were going to -- forget this.  Just pretend this chart doesn't exist for the moment.

If you were going to, for the purpose of an interim solution here in Ontario, adopt a corporate bond yield, right, you would go back to when the Board initially did the 9.35 and figure out what the corporate bond yield was at that point.  Not in '94.  Not in '97, whenever the 9.35 was.  

Then you would look at the change between that date and today and take 75 percent of the difference, plus, right.  Not plus anything.  

And what I am saying is that if you go back to whatever the corporate bond yield was, in 1999, it is not that different from what it is today.  So if you take 75 percent of the change you would be at probably subtracting a little bit from the 9.35.  

MR. SHEPHERD:  Thanks.  That's all of my questions.  

MS. BRICKENDEN:  Thank you, Jay.  Does anyone else have any further questions for Kathleen?  

Done?  Well, that means we might be finished for the day, wrapping up early.  We are coming together again on Thursday at 9:30.  At that point, we will hear from Dr. Booth and Dr. Schwartz.  

MR. MONDROW:  Sorry, Lisa, just before we rise or adjourn, whatever we are doing, I have had a chance to speak to some people in the room, not everybody, and I can just leave this but it is really a for Staff and I guess the Board Members.  

Dr. Booth is in India and coming home, as I understand it, tomorrow.  And I have spoken to Energy Probe who is the other party that has a presenter in the next tranche.  

We were wondering, "we" being the parties sponsoring Dr. Booth's report, wondering whether if the schedule permits -- that is if you don't need the two full days on Thursday and Friday, we might have the last two presentations on Friday, which would give Dr. Booth Thursday to sleep and look at some of the transcripts which we have not been able to get through to him for some e-mail reason.  So I actually don't need a response but the reason I wanted to put it on the record is so that if anyone does have a concern, maybe they could let me know or let you know and then I would ask if the Board could consider that scheduling.  That is very much dependent on whether you think you will need the two full days for the discussions and the exchange.  

If you do, we can stick to the schedule we have, but if you don't and there is that extra day of leeway in the schedule, the Friday would probably make a difference to him.  I hope that is clear.  Thanks.  

MS. BRICKENDEN:  I understand. 

MR. MONDROW:  Thanks. 

MS. BRICKENDEN:  Could I get back to you on that, Ian?

MR. MONDROW:  Absolutely, yes.  Thank you.  

MS. BRICKENDEN:  Would that be possible?  Sorry.  I heard the option was:  Would it be possible for Lawrence and Larry to switch time slots so that Dr. Booth would be in the afternoon.  We can talk about it off line.  

MR. MONDROW:  Presumably people should assume the current schedule and if there is a change Staff would advise. 

MS. BRICKENDEN:  Yes. 

MR. MONDROW:  I just wanted people to be aware of that request. 

MS. BRICKENDEN:  Okay.  Thanks very much.  

--- Whereupon the conference adjourned at 4:20 p.m.
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